NAIR Assistant Financial Advisor AFA

Topic:- AFA_PA_NAIRAUG4

1) What is the purpose of judicial review by the Supreme Court and High
Courts?

Tdfea wam@red HT 3o Fareal qanT Farde SHIET B 3eavT
&1 & 2

a) To examine the validity of laws / THa#T &7 deTT &f ST &L
b} To ensure laws are in conformity with the Constitution /
g AT e {5, w0 |afaur= & 37ed 6l
c} To oversee the functioning of the executive/
FEIAET & S UgH T & T FEAT
d) To amend the Constitution / TTIeTe & Feie= &=

[Question ID = 1][Question Description = Q01_AFA_NAIRAUG4]
1. (a). (b), (c) & (d)

[Option ID = 1]
2 (a), (b) &(c)

[Option ID = 2]
3 (b). (c) & (d)

[Option ID = 3]
4 (a) (b) & (d)

[Option ID = 4]
Correct Answer :-
* (a) (b) &(c)

[Option ID = 2]

2) \water covers % of the Earth's surface.
gadt 67 TerE % Ul & AETTed & |
[Question ID = 2][Question Description = Q02_AFA_NAIRAUG4]

1. 95

[Option ID = 5]
2. ?D

[Option ID = 6]
3. 55

[Option ID = 7]

4. None ofthese / 18T § &5 74T
[Option ID = 8]

Correct Answer :-
® Nore gfthese / S8 ¥ &I =6/

[Option ID = 8]

3) ‘World Water Day is observed on

Taed ool fedd &d Herdr ST & |



[Question ID = 3][Question Description = Q03_AFA_NAIRAUG4]
- March/ AT 24

[Option ID = 9]
2. March/®m22

[Option ID = 10]
3. March/#= 20

[Option ID = 11]

4. MNone ofthese | 558 § %15 =0
[Option ID = 12]

Correct Answer :-

*  March/®T22

[Option ID = 10]

4) Inwhich Indian State is the Flamingo Festival celebrated?

T Io8d Thd ARG g & A« Al & |
[Question ID = 4][Question Description = Q04_AFA_NAIRAUG4]
1. Andhra Pradesh / 37T geer
[Option ID = 13]
2. Assam/ 3TEH
[Option ID = 14]

3. Manipur (AU

[Option ID = 15]
4. Goa/dEr
[Option ID = 16]
Correct Answer :-
®  Andhra Pradesh / #TeT 99l

[Option ID = 13]

5) The author ofthe World famous “"Harry Potter” series 1s:
faea uisigy "&if Uley” AW@ell & ol S §

[Question ID = 5][Question Description = Q05_AFA_NAIRAUG4]
1. Arundhati Roy / 31%eTa 1

[Option ID = 17]
2. ) K Rowling / 1. &. Tferr

[Option ID = 18]
3. Taslima Nasrin / FFe#T F980=

[Option ID = 19]
4. Salman Rushdie / TomTe 32T

[Option ID = 20]

Correct Answer :-

® J K Rowling / 3. &. Ufeiar

[Option ID = 18]

6) Fatehpur Sikriwas founded as the capital of the Mughal Empire by:

WG HIehdl I TUTTAT HIT0T T bl UTeiall & &9 & Fodel &l
afi?



[Question ID = 6][Question Description = Q06_AFA_NAIRAUG4]
1. Babur / F@T

[Option ID = 21]
2. Humayun /g8

[Option ID = 22]

3. Jahangit / SEEIR
[Option ID = 23]

4. Akbar/ H&ag
[Option ID = 24]

Correct Answer :-

*  Akbal/ AT

[Option ID = 24]

7) Who was the court poet of Samudragupta?
THEIC &I G $id Bl °T?
[Question ID = 7][Question Description = Q07_AFA_NAIRAUG4]
. Chand Bardai | TI¢ sHETS
[Option ID = 25]

2 Bhavabhuti / sasifar

[Option ID = 26]
3. Banabhatta / 99THET

[Option ID = 27]
4. Harishen | §TSET
[Option ID = 28]
Correct Answer :-

®  Harishen | B8

[Option ID = 28]

8) Which State does not share its boundary with Myanmar?
Pl T I FEHAR F WY HA AT ST 6T B o7
[Question ID = 8][Question Description = Q08_AFA_NAIRAUG4]
1. Arunachal Pradesh | 3%0Tr=rel 9ear

[Option ID = 29]

2. Mizoram/ =i
[Option ID = 30]

3. Manipur / AOTGY
[Option ID = 31]

4 Sikkim/ Tafawa
[Option ID = 32]

Correct Answer :-

®  Sikkim/ TOTEwa

[Option ID = 32]



9) Which Veda depicts the information abaout the most ancient Vedic Age

culture?
Wit 7 A qay el dfes 2or B UrHl & g & el gue
B?

[Question ID = 9][Question Description = Q09_AFA_NAIRAUG4]

1. Rig Veda/ 59@we

[Option ID = 33] _
2. YajurVeda / Tedg

[Option ID = 34]
3. Atharva Veda/ 396dg

[Option ID = 35]
4. SamaVeda ! 9T

[Option ID = 36]
Correct Answer :-
® RigVeda/FIWg

[Option ID = 33]

10) Afterthe Battle of Plassey who was made the Nawab of Bengal?
COTHT & YeH & dig G & Adld ey garar 7w

[Question ID = 10][Question Description = Q10_AFA_NAIRAUG4]
1. MirJafar! T A6

[Option ID = 37]
2. Alivardi Khan | 3eiTaeT @

[Option ID = 38]

3. MirKasim/ #T waa

[Option ID = 39]
4. Mir Jumia / HW ST

[Option ID = 40]

Correct Answer :-

®  MirJafar! #X ATHT

[Option ID = 37]

11) Which ofthe followings was NOT a Harappan City?
TeF=Tell@d # & @ia |7 AEL Ush GSCUT ol AET el o7 ?
[Question ID = 11][Question Description = Q11_AFA_NAIRAUG4]

1. Lothal / wiremer

[Option ID = 41]

2. Dholavira | STemdTT

[Option ID = 42]

3. Mehrgarh / AETaTE

[Option ID = 43]

4. Sokhta Koh / TWgdr 15
[Option ID = 44]

Correct Answer :-

* Mehrgarh/ #gtETe

[Option ID = 43]



12) The Highest Peak in India is-
SRS &7 Ty 3997 9 i T 7
[Question ID = 12][Question Description = Q12_AFA_NAIRAUG4]
- Kanchenjunga / s=l=t=fam
[Option ID = 45]

2. K-2inHimalayas / T&dmeg # &-2

[Option ID = 46]
3. Mount Everest/ 3¢ TdiFc

[Option ID = 47]

4. None ofthese / S8 T &S a1
[Option ID = 48]

Correct Answer :-

® K-2inHimalayas /&amerg # &-2

[Option ID = 46]

13) The Largest Lake in India is:
AR f T S S S HT §

[Question ID = 13][Question Description = Q13_AFA_NAIRAUG4]

- Dal Lake /o7 3T

[Option ID = 49]
2. Chilka Lake / =fersr sha

[Option ID = 50]
3. Wular Lake in Kashmir / &2#1T # o Sier

[Option ID = 51]
4. None ofthese / 559 I ®I5 =60
[Option ID = 52]

Correct Answer :-

* None ofthese / S99 & ®I5 =60

[Option ID = 52]

14) First Indian Womanto go to Space is:

FTaftar # et aren YUH ARAT Afeel Bl &
[Question ID = 14][Question Description = Q14_AFA_NAIRAUG4]
1. Kalpana Chawla / theg=IT ITdeln

[Option ID = 53]

2. Indira Noi / 5ERT 5

[Option ID = 54]
3. Chanda Kochar | 98] &=

[Option ID = 55]

4. None ofthese /5518 § &S =6l

[Option ID = 56]



Correct Answer :-

® Kalpana Chawla /shed=1 didell

[Option ID = 53]

15) The Highest Damin India is:
D W a0 ST g Sig @ i
[Question ID = 15][Question Description = Q15_AFA_NAIRAUG4]
1. Nagarjuna Sagar /ATTel TN
[Option ID = 57]
2. Tehri Dam in Uttrakhand / 3tT@s & o84l ardg
[Option ID = 58]

3. Bhakra Nangal / 9TaT #9Te]

[Option ID = 59]

4. MNone ofthese / 5507 & @15 =5l
[Option ID = 60]

Correct Answer :-

®  Tehii Dam in Uttrakhand / 3THT@S & o84 ardg

[Option ID = 58]

16) Most Literate State in India is:
SR & 9a9 1280 s &I 91 &t

[Question ID = 16][Question Description = Q16_AFA_NAIRAUG4]
1. Telengana / Teram=m

[Option ID = 61]

2. Tamilnadu / aTf#e=TS

[Option ID = 62]
3. Maharashira | HERIEC

[Option ID = 63]
4. Kerala/ FTeT

[Option ID = 64]

Correct Answer :-

®  Kerala/ %ol

[Option ID = 64]

17) Indus Valley Civilization in mature form lasted during:

& =T wagar 9w afiged &9 # sy aul & = |
[Question ID = 17][Question Description = Q17_AFA_NAIRAUG4]
- 2000-1500 B.C./ &,

[Option ID = 65]
2. 1000-500 B.C. n’?ﬁ[\

[Option ID = 66]
3. 2600-1750 B.C /3.

[Option ID = 67]



4. Noneofthese /S8 § @5 @8]
[Option ID = 68]
Correct Answer :-

* 2600-1750 B.C /$.9.

[Option ID = 67]

18)  Quit India Movement of independence was held in

TacAT & oI HRT BIsT Higlel el oF Tohar /@ 4
[Question ID = 18][Question Description = Q18_AFA_NAIRAUG4]
1. 1936

[Option ID = 69]
2. 1938

[Option ID = 70]
3. 1940

[Option ID = 71]
4. 1942

[Option ID = 72]
Correct Answer :-
® 1942

[Option ID = 72]

19)  Mohiniattam is a fraditional dance formin

Hfeerees ffl U7 &1 UF GRS 7cd & 7
[Question ID = 19][Question Description = Q19_AFA_NAIRAUG4]
' Tamil Nadu / Tf#er=Tg

[Option ID = 73]
2. Kerala/ %

[Option ID = 74]
3. Karnataka/ @ellce
[Option ID = 75]
4 Odisha / FfEerT
[Option ID = 76]

Correct Answer :-

® Kerala/ tal

[Option ID = 74]

20) |ndustrial Revolution in the world started in Britain inc
faea &1 seAfe Fiid fdea & &9 qF 55 ¢
[Question ID = 20][Question Description = Q20_AFA_NAIRAUG4]
1.
1700

[Option ID = 77]
2. 1800



[Option ID = 78]
3. 4750

[Option ID = 79]
4. 1800

[Option ID = 80]
Correct Answer :-
¢ 1750

[Option ID = 79]

21) Second World War was held during:

eladiia Ta9d Gger &a oISt 17 o ;
[Question ID = 21][Question Description = Q21_AFA_NAIRAUG4]
" 1939-1945

[Option ID = 81]
2. 193p.1942

[Option ID = 82]
3. 1935-1940

[Option ID = 83]
4. 18941-1945

[Option ID = 84]
Correct Answer :-
°

1838-1945

[Option ID = 81]

22) Kosi River Project is located inc
EaL IR CUNE: R i

[Question ID = 22][Question Description = Q22_AFA_NAIRAUG4]
- Uttar Pradesh | 3o% 98T

[Option ID = 85]
2. MadhyaPradesh / #e3F 9590

[Option ID = 86]

3. Bihar/ faER

[Option ID = 87]
4. \West Bengal / 9f3=# d@amer

[Option ID = 88]
Correct Answer :-
® Bihar/ fTER

[Option ID = 87]

23) Longest Train route in India by Vivek Express connects to
fade voads ganT ARG & Jad oar Yo AR Gy Sisd 67

[Question ID = 23][Question Description = Q23_AFA_NAIRAUG4]
1. Dibrugarh - Kanyakumari/ [Sg31e - @waraaidt

[Option ID = 89]
2. Jammu- Kanyakumari/ ST - SedimHIT



[Option ID = 90]
3. Dibrugarh -Mysore / fgaTe - #H3
[Option ID = 91]
4. MNone ofthese | Sy & FI5 6T
[Option ID = 92]
Correct Answer :-
®  Dibrugarh - Kanyakumnari/ [Sg31¢ - @waraaids

[Option ID = 89]

24) Head of NITI AAYOG, Le., Chair Person is
<Afer 3T & e, A e § |

[Question ID = 24][Question Description = Q24_AFA_NAIRAUG4]
- Finance Minister / Tay =37

[Option ID = 93]
2. Prime Minister / QeT=THAT

[Option ID = 94]

3. President / Teeqfa

[Option ID = 95]
4. Vice President /37 IS¢ qfo

[Option ID = 96]
Correct Answer :-
®  Prime Minister / WelT=#AT

[Option ID = 94]

25) BPOstands for

BPO®I 99T &9 &4 82
[Question ID = 25][Question Description = Q25_AFA_NAIRAUG4]
- Business Process Qutsourcing / ST GTeam CIEGGIEED

[Option ID = 97]
2. Basic Principle Overview /| TR FIgeTd Fadloa
[Option ID = 98]

3. Bureau of Preliminary Objective / SIS S&2% w21l

[Option ID = 99]

4. Board of Physics Organization | #if6r gae=T ais
[Option ID = 100]

Correct Answer :-

®  Business Process Qutsourcing / TaT9IR Gfdar HE3cwITaaT

[Option ID = 97]

What is the Official Language of Union of India?
AT e el TIAHTIT &7 & 2

[Question ID = 26][Question Description = Q26_AFA_NAIRAUG4]
- Hindi In Devnagar Script/ 3= foft & T



[Option ID = 101]
2. Devnagari in Hindi Script / T&ér Tt # ga=mrir
[Option ID = 102]

3. Hindi in Hindi Script/ T&dr fafa # &dr
[Option ID = 103]

4. Devnagariin Devnagari Script /aeFRT [@Td & caamenT
[Option ID = 104]

Correct Answer :-

®  Hindi In Devnagari Script/ =T foifd # fGor

[Option ID = 101]

27) When "Hindi Day" is celebrated every year?

“iEdT oo ofT a9 &a o ST &7

[Question ID = 27][Question Description = Q27_AFA_NAIRAUG4]
- 26th January / 26 F=al

[Option ID = 105]
2. 5th June | 5 5T

[Option ID = 106]
3. 14th Septernber/ 14 T&dex

[Option ID = 107]
4. 8th March/ 8 &=

[Option ID = 108]

Correct Answer :-

®  1{4th September/ 14 T&daX

[Option ID = 107]

28) According to Official Language Rules, under which Region Andaman &

Micobar Islands come:

e At & Ha, WS e TR AT A
[Question ID = 28][Question Description = Q28_AFA_NAIRAUG4]
- Region 'A' /8 &

[Option ID = 109]
2. RegionB'/8F ®@

[Option ID = 110]
3. Region C' /& 7T

[Option ID = 111]

4. None ofthese / S1d7 & @IS =6
[Option ID = 112]
Correct Answer :-

Region A" /8T &



[Option ID = 109]

29) In which States Urdu has been declared as Official Language?
ot 1o 3 3 I Trerenen S fobe v & 2

[Question ID = 29][Question Description = Q29_AFA_NAIRAUG4]
1. Mizoram & Arunachal Pradesh / TR Ta 3750T=rer 9eal

[Option ID = 113]

2. Telengana & Bihar / @< va fagr

[Option ID = 114]
3. Jammu & Kashmir / S Ud &9

[Option ID = 115]

4. Karnataka & Tamil Nadu / &eies Ud ATfdees

[Option ID = 116]

Correct Answer :-

*  Telengana & Bihar / &ei@n=T vg T98R

[Option ID = 114]

30) A present how many languages are enlisted in the 8th Schedule of the
Constitution?

ForATeT 3 Wi BT et Sty #F ol st gefagy &2

[Question ID = 30][Question Description = Q30_AFA_NAIRAUG4]
1. 15

[Option ID = 117]
2. 14

[Option ID = 118]
3. a6

[Option ID = 119]
4. 22

[Option ID = 120]
Correct Answer :-
e 22

[Option ID = 120]

31)  \When was the Official Language Rules passed?
TSI A el U g0 & 7

[Question ID = 31][Question Description = Q31_AFA_NAIRAUG4]
[Option ID = 121]

2. 1976
[Option ID = 122]

3. 1850

[Option ID = 123]
4. 1855



[Option ID = 124]
Correct Answer :-
® 1976

[Option ID = 122]

32)  As per the Constitution, who is translating the statutory rules, regulations
and orders?

g & 31w, duniers foras, fafaat siv angen &1 sreae Sia
FAT 57

[Question ID = 32][Question Description = Q32_AFA_NAIRAUG4]

1. Railway Ministry /| ToT #1679

[Option ID = 125]
2. Finance Ministry / Tore #amera

[Option ID = 126]

3. Home Ministry / 3§ HATerg
[Option ID = 127]

4. Law Ministry / =T FATIST
[Option ID = 128]

Correct Answer :-

®  Law Ministry / == HHT

[Option ID = 128]

33)  How many Hindi courses are prescribed for Central Government
Employees?

FT TR & FHIE & v e B oemen i 2

[Question ID = 33][Question Description = Q33_AFA_NAIRAUGA4]
1. One/u®

[Option ID = 129]
2. Tweler

[Option ID = 130]

3. Three/ &

[Option ID = 131]
4 None ofthese /| 5o & &5 =T
[Option ID = 132]

Correct Answer :-

®  Three/ di=

[Option ID = 131]

34)  \Which Elementary Hindi Course is prescribed for Central Govarnment
Employees?

&5 TR & ANt & e #tF 91  ifas #Er oenen e
7

[Question ID = 34][Question Description = Q34_AFA_NAIRAUG4]
1. Prabodh / geter



[Option ID = 133]
2. Praveen /9droT

[Option ID = 134]

3. Pragya/9T#
[Option ID = 135]

4 None ofthese / % & &% 7El
[Option ID = 136]

Correct Answer :-

®  Prabodh /9&Te

[Option ID = 133]

Who is the Chairman ofthe Central Hindi Committee?
HearT TG gfafa & yeaey FiF 8 /

[Question ID = 35][Question Description = Q35_AFA_NAIRAUG4]
- Home Minister / FE#AT

[Option ID = 137]
2. Defence Minister { T8 #3T

[Option ID = 138]
3. Railway Minister / Teid &A1

[Option ID = 139]

4. Prime Minister | TIT=eET

[Option ID = 140]

Correct Answer :-

*  Prime Minister | SeITaHAT

[Option ID = 140]

36)  Which committee reviews the progress made in the propagation
of Hindi in particular Ministry/Department?

Wi W wiATT e foerw Faerafasmr & Bl &
JA-IER 7 §5 Wi H FHIST FIT 67
[Question ID = 36][Question Description = Q36_AFA_NAIRAUG4]
1. Hindi Advisory Committes/ TBET Temge TiafT

[Option ID = 141]

2. central Hindi Committee | e TEET AT

[Option ID = 142]
3. Parliamentary Committee / TG =T HTHTT

[Option ID = 143]

4. Mone ofthese /38 & &I5 =6
[Option ID = 144]

Correct Answer :-

®  Hindi Advisory Committee | f6eT STolgmit Tl

[Option ID = 141]



37) Wha prepares the Annual Programme on Official Language?

TSTHIT & Al SRGH (s ZaRT a=lrar =T & /
[Question ID = 37][Question Description = Q37_AFA_NAIRAUG4]
T Law Ministry / =3ma Famerg

[Option ID = 145]
2. pefence Ministry / T&TT #FATeTdT

[Option ID = 146]
3. Railway Ministry | IeTa FaTed

[Option ID = 147]

4. Ministry of Home Affairs / 38 ##Terd
[Option ID = 148]

Correct Answer :-

®  Ministry of Home Affairs / 36 #aTerd

[Option ID = 148]

38)  How many times the Regular Hindi Exams are conducted in India?
A # fafad Bl ol st an smaifaa & s &2
[Question ID = 38][Question Description = Q38_AFA_NAIRAUG4]
- 01time/o1d
[Option ID = 149]

2. p2tmes /029X

[Option ID = 150]
3. D3times /o3 ad

[Option ID = 151]
4 D4times /04 I
[Option ID = 152]

Correct Answer :-

® D2times /029X

[Option ID = 150]

39) Mention the name of the Award to be given forwriting original Hindi books
on technical subject, by Railway Board.

o @15 A dede [a9g UK Alfas Ber Iras ode & o G
ST arel YTEF &1 A dadisv|

[Question ID = 39][Question Description = Q39_AFA_NAIRAUG4]
. Premchand Award / 9&=E qIFRR

[Option ID = 153]
2. Maithili Sharan Gupta Award | #TICTROT a0 TR

[Option ID = 154]
3. Mahatma Gandhi Award /| HETeHT M| QRN

[Option ID = 155]



4. Lal Bahadur Shastri Award / @TeT G5Ie{ 2ITEAT GTEHR

[Option ID = 156]

Correct Answer :-

*  Lal Bahadur Shastri Award / ¥Te @GIEY ¥TEAT REHR

[Option ID = 156]

Mention the name of the award being given for writing the book of Hindi
poems, by the Railway Board:

@ s gan TReT Fidar & I faas & AU B @6 an [Een
oI = Fd50 |

[Question ID = 40][Question Description = Q40_AFA_NAIRAUG4]

- Maithili Sharan Gupta Award | ATIeiRT 0T TLEFR

[Option ID = 157]
2. Rajiv Gandhi Award / T=id Al giEsR

[Option ID = 158]

3. Premchand Award / 99ee qTEHR
[Option ID = 159]

4. Indira Gandhi Award / STedT ATl HERR

[Option ID = 160]
Correct Answer :-

®  Maithili Sharan Gupta Award | HIZeIRROT 00 [EER

[Option ID = 157]

41)  Apstract ')’ coversthe expenditure of

UsHcde o # [Aeafeias ooy Ay |

[Question ID = 41][Question Description = Q41_AFA_NAIRAUG4]
. Educational Institutions / ¢iféTs aeam=T
[Option ID = 161]

Medical Services including Health & Welfare /

. TATEE U &odlv] Oied [Sidhcar

[Option ID = 162]

Residential & Welfare Buildings: Repairs & Maintenance /

3.
ETEE U o] Jae: AFEag v 1Edg

[Option ID = 163]

4 All of these / 3197 & @i
[Option ID = 164]

Correct Answer :-

® Al of these / 377 o T=iT

[Option ID = 164]



42) Non-Practicing Allowance (NPA) to Railway Doctors is booked to which

Abstract, Sub-Head & PU?

Yo staedl 1 AdfFes s (vadin) R temdae, 3o-aid o dg
CERETIE G N

[Question ID = 42][Question Description = Q42_AFA_NAIRAUG4]
1. J-220-28

[Option ID = 165]
2. J-240-22

[Option ID = 166]
3. J-210 13

[Option ID = 167]
4. J-230 -32

[Option ID = 168]

Correct Answer :-

¢ J-210 13

[Option ID = 167]

43)  |nter-Railway Financial Adjustment charges of Rolling Stocks are booked
to which Abstract and Sub- Head?

AT Teie & FaiIad fadrT aaie= vaR e tegdae 3R
sgofid & g oo I &

[Question ID = 43][Question Description = Q43_AFA_NAIRAUG4]
- Abstract ‘G' — 740 / UsTiEE ‘G — 740

[Option ID = 169]
2. Abstract ‘G’ — 750 /Usaéae ‘G — 750

[Option ID = 170]
3. Abstract 'H' — 950 iQSHEEE- ‘H' — 850

[Option ID = 171]
4 All of these /50T & Telt

[Option ID = 172]
Correct Answer :-
®  Abstract ‘G' — 750 /emdae ‘G’ — 750

[Option ID = 170]

44
) Coach sanitation, Linen-management expenditure are booked to which
Sub-Head of Abstract 'F'?
I h THS, ol Yo =90 & tegdae ‘P g 3-ofid & gor
T ST &7
[Question ID = 44][Question Description = Q44_AFA_NAIRAUG4]
1. 590

[Option ID = 173]
2. 290
[Option ID = 174]



[Option ID = 175]
4. 440

[Option ID = 176]
Correct Answer :-
¢ 540

[Option ID = 173]

45) Payment of lease charges to IRFC is' booked to which Sub-Head of
Abstract 'G'?

ITSIRUEHT FT Gl AFF & A Teneae ‘60 & e Uiy #7
T Tohar T B
[Question ID = 45][Question Description = Q45_AFA_NAIRAUG4]
- 780
[Option ID = 177]
2 740
[Option ID = 178]
3. ??D
[Option ID = 179]
4. 810
[Option ID = 180]

Correct Answer :-

780

[Option ID = 177]

46) Payments under NP3 are now booked to which Abstract & Sub-Head?
TAHUT & A9 s Ha 6y Usddae vd 3929 7 g e I
&7
[Question ID = 46][Question Description = Q46_AFA_NAIRAUG4]
1. L-850
[Option ID = 181]
2 N-130

[Option ID = 182]
3. M-110

[Option ID = 183]

4. None ofthese / 559 & &% =60
[Option ID = 184]

Correct Answer :-

® L-650

[Option ID = 181]

47)  Looco performance (GTKM Debits/Credits) are booked to which PU?
et fosurge (shidieve sfaeisise) foar drg & g% U o 87

[Question ID = 47][Question Description = Q47_AFA_NAIRAUG4]
- pu-33

[Option ID = 185]



2. pu-81

[Option ID = 186]
3. PU-27

[Option ID = 187]

4. MNone ofthese | SaH & &5 =6l
[Option ID = 188]

Correct Answer :-

* PU-61

[Option ID = 186]

48)  During the inspection of Training Centres it is checked fo see that the
Teaching Allowance paid to those instructors who have been screened by
PCPO and paid only to those who were an deputation for a period:

GTIETOT el & [0SO & SR a8 SuT Sen & Tob TRIeTor o dhael
IegT aivETET @ T Srer & Foedy ddider ganr s dr o § g
el 31 YIAETHT @ Tear S & Y Tohoel 3@t & v gfateriET
7 &

[Question ID = 48][Question Description = Q48_AFA_NAIRAUG4]

- Not exceeding 5 years/ 5 @9 & HTere a1 &

[Option ID = 189]
2. Notexceeding 3years/ 3 a5 ¥ #faw a1 or

[Option ID = 190]
3. Notexceeding 2 years/ 2 99 & Hfa& 1 &

[Option ID = 191]
Till continuation of service as instructor in Training Institute. /

4.
giereTor e & uitete & §9 7 a7 S8 @S O |

[Option ID = 192]

Correct Answer :-

® Mot exceeding 5 years / 5 @9 & 3ifers a1 &

[Option ID = 189]

49) lItis checked to see that the paymentadmitted in respect of Temporary
Fosts' without sanction, details should be entered inthe :

5 em= & [T ST & S & @ Sl 9erd dag 7 99 #el
& T el TR T 8, T feor wid # o T Sier =i

[Question ID = 49][Question Description = Q49_AFA_NAIRAUG4]
1. Recovery Register | &ail ot
[Option ID = 193]

2. Provisional Payment Register / 3{ifdiel ${7am= Ifeed

[Option ID = 194]
3. Scale-Check Register / Tre-=1a ToTeex

[Option ID = 195]
4. Salary Register | &d= Uaeed



[Option ID = 196]

Correct Answer :-

* Provisional Payment Register / 3eifciel ${3Taral Ifaieex

[Option ID = 194]

50) Zonal Railway Administrations have no powers to undertake surveys on
their own and can take up only after:

BT YT WITHAT T T90 THAT0 N & FS R AaT & AR T
C T R & g & FdaTOT F AE FT Tha b |

[Question ID = 50][Question Description = Q50_AFA_NAIRAUG4]

Inclusion in the Sanctioned Budget through Pink Book /

" e 9o & AR § Fdied delc 7 A

[Option ID = 197]
5. Approval of General Manager with Finance concurrence /

Tl Teee Tfed FETIEEr F FTAGT

[Option ID = 198]

3. Approval of CAQ {Gonstrucﬁnn) /
AT AT ATUFRT (A7) & FeFaeT

[Option ID = 199]
4 None ofthese | 51 & &1% @51
[Option ID = 200]

Correct Answer :-

Inclusion in the Sanctioned Budget through Pink Book /
U 9 & ATOA ¥ Tdled delc #7 TATIT

[Option ID = 197]

51)  Who examines the Appropriation Accounts relating to Indian Railways?
TRATT W & gafaa e ot fr S w5 w3 B

[Question ID = 51][Question Description = Q51_AFA_NAIRAUG4]
. Railway Convention Commitiee | Told Heaeel THATT

[Option ID = 201]
2. Estimates Committee / 3=TATH GTATH

[Option ID = 202]
3. Finance Ministry / Ta #amerg

[Option ID = 203]
4. Pyblic Accounts Committee | wi S1@T AT
[Option ID = 204]

Correct Answer :-

®  Public Accounts Committes / Tl or@r Ff# T

[Option ID = 204]

52) Parcel Eamings are accounted in:

e HrE T aorEr Tohae i S

[Question ID = 52][Question Description = Q52_AFA_NAIRAUG4]



Annexure Y
[Option ID = 205]
2. Annexure X'

[Option ID = 206]
3. Annexure Z

[Option ID = 207]

4. None ofthese / ST & FI5 =50
[Option ID = 208]

Correct Answer :-

®  Annexure X'

[Option ID = 206]

53) The “Fitment Factor" agreed by Govt. of India in respect of 7" Pay
Commissian is

7 @ e AT F TaE 7 AR TER GaRT G600 “Thedte by
NESSN |

[Question ID = 53][Question Description = Q53_AFA_NAIRAUG4]
1.
272

[Option ID = 209]
2. 2457

[Option ID = 210]
3. 287

[Option ID = 211]
4. 3457

[Option ID = 212]

Correct Answer :-
& 257

[Option ID = 210]

54)  Separation Convention on Railways is the result of recomimendations of
which Committee?

ToTd O QUERIOT Fed i fohe AT & [Awiieel & gRems 82 /

[Question ID = 54][Question Description = Q54_AFA_NAIRAUG4]
- Acworth Committee / Oahast sfafa

[Option ID = 213]
2. Prakash Tandon Commitiee /| 91l €5 TTHETT

[Option ID = 214]
3. Rakesh Mohan Committee / 13T #igeT Tfffer

[Option ID = 215]
4. Delhousie Committee / SeTRI3=iT WielTd
[Option ID = 216]
Correct Answer :-

®  Aeworth Committes / Ty gfafy



[Option ID = 213]

55)  The Member Finance for Railways is the Ex-Officio;
d & fov o9 veeg, wee ... gier &l

[Question ID = 55][Question Description = Q55_AFA_NAIRAUG4]

1. Secretary to the Goviofindia in the Ministry of Railways /
& #A6T # HRA TR & gEd

[Option ID = 217]
2. Principal Seeretary to the Govi of India in the Ministry of Railways /
ol FATOII T AR RO & el iia

[Option ID = 218]
3. Additional Secretary to the Govt of India in the Ministry of Railways /
ol HAGE 7 HRd TR & JW S

[Option ID = 219]
4. None ofthese / 58 & &5 =6
[Option ID = 220]

Correct Answer :-
o Secretarytothe Goviofindia inthe Ministry of Railways /
o HAeE H aRd TR & gag

[Option ID = 217]

56) Railway Budget merged with General Budget from which Financial Year?
e T o & ¥ a=ic & 3% g9c & e ftar

[Question ID = 56][Question Description = Q56_AFA_NAIRAUG4]

1. 2017-18

[Option ID = 221]
2. 201617

[Option ID = 222]
3. 2015-16

[Option ID = 223]

4. Mone ofthese / S & Hig @61
[Option ID = 224]

Correct Answer :-

® 2017-18

[Option ID = 221]

57) Percentage of Working Expenses to Gross Earnings is known as

ool {TT # SHEET @ 1 g 5T & 7 @7 960 6

[Question ID = 57][Question Description = Q57_AFA_NAIRAUG4]
1. Inventory Turn-Over Ratio | Sraedl To3Ta =TT

[Option ID = 225]
2. Operating Ratio / 9=Ters Heaid

[Option ID = 226]
3. Liquidity Ratio / erg 3e[dict

[Option ID = 227]



4. None ofthese / 598 T ®IS Fa1
[Option ID = 228]

Correct Answer :-

* Operating Ratio / I=To= 30T

[Option ID = 226]

58) Gross Receipts are arrived by
Tl TITeean T O 3T B

[Question ID = 58][Question Description = Q58_AFA_NAIRAUG4]

1. Subtraciing Traffic Suspense from Gross Earmings /
e 3G ¥ ¢ ihe IO09 9EE=T

[Option ID = 229]

2. Adding Traffic Suspense to Gross Earnings /
Tehe! 34 # Cithd TEOH HABAT

[Option ID = 230]
3. Adding Expenditure Suspense to Gross Earnings./
Tehel AT H T TEIT S1s=m
[Option ID = 231]

4. None ofthese | S8 ¥ ®is =61
[Option ID = 232]
Correct Answer :-

e Adding Traffic Suspense to Gross Earnings /
Tae AT H The OEaT SATSar

[Option ID = 230]

59) Appropriation to DRF & Pension Fund are budgeted under which
Sub-Major Head?

SRTE AR e B & e e, B sewre f F FaT
F=Te A oniHEe o S g
[Question ID = 59][Question Description = Q59_AFA_NAIRAUG4]
! Sub-Major Head=9 / 37-97@ #fif=9
[Option ID = 233]

2. Sub-Major Head=10 / 39-99@ =10

[Option ID = 234]
3. Sub-Major Head=11/39-99@ g =11

[Option ID = 235]

4. Sub-Major Head=12/39-95@ =12
[Option ID = 236]

Correct Answer :-

*  Sub-Major Head=12 / 39-95@ =12

[Option ID = 236]

60) NetRevenue ofa Zonal Railway is the difference between:
e YA Yo w6 AR Jeed R i @ I



[Question ID = 60][Question Description = Q60_AFA_NAIRAUG4]

1. Gross Earnings minus Ordinary Working Expenses /
Hehel W H § SR S 0 g

[Option ID = 237]
Miscellaneous Receipts minus Misc Expenses /

2.
Tafasy wiitaal & @ fafay =g we=r
[Option ID = 238]

3 Total Receipts minus Total Expenditure /

Fol Tl 7 W ol oI "erEr

[Option ID = 239]

4. None ofthese / 518 ¥ &15 8T
[Option ID = 240]

Correct Answer :-

Total Receipts minus Total Expenditure /
ol WITCadl 7 § del SO el

[Option ID = 239]

61) Examples of Charged Expenditure:

TN 09 & 3N A..
[Question ID = 61][Question Description = Q61_AFA_NAIRAUG4]
1. Pay & Allowances of C&AG / HIT=ll &1 dder 31T &3

[Option ID = 241]

Any Award decreed by Court of Law /

z I AT fear s sft Aok

[Option ID = 242]

3. MNone ofthese | 58 & &5 =gl

[Option ID = 243]
4. Both of these / 394 g=T
[Option ID = 244]

Correct Answer :-

* Both of these / 3U4&d &4

[Option ID = 244]

62) Expenditure spert in excess of Grant is regulated by Parliament after
tabling of Appropriation Accounts and this is called:

HaeE ¥ Fd ogg &1 fafamss @rdl & gead w0 6 dg 996
ean aferafag Gar S & AT S8 S 50T b

[Question ID = 62][Question Description = Q62_AFA_NAIRAUG4]
1. Spending Limit / @< §&T

[Option ID = 245]
2. Budget Order/dsic HGT

[Option ID = 246]
3. Expenditure Order /ST 37&ar

[Option ID = 247]



4. Excess Grant /| ¥l =g
[Option ID = 248]

Correct Answer :-

® Excess Grant / 37TcIeRT 3EEE

[Option ID = 248]

63) Grants will be allotted through Budget Orders after.
FeAETe T HTdce doic Al & ATEH W, & I Tl AT |

[Question ID = 63][Question Description = Q63_AFA_NAIRAUG4]
Submission of Demands for Grants to Parliament /

THE # FACH & AR TEdd &
[Option ID = 249]
2. Obtaining Vote of Parliament /§9g &7 dig 9Iod &4

[Option ID = 250]

3. Passing of Appropriation Bill in Parliament /

o & fafaae fadas o g
[Option ID = 251]
4 None of these | 5187 ¥ &1 =87
[Option ID = 252]
Correct Answer :-
e Passing of Appropriation Bill in Parliament /
Toe & fafeam s ot g

[Option ID = 251]

64) Final Modification Estimate is-prepared based on expenditure-trends of
and projections for the balance period

HiH Gl AT & cgg-ydfa AT A9 dafd & A=
& MR W daN R S g |
[Question ID = 64][Question Description = Q64_AFA_NAIRAUG4]
1. First 3 months /93H 3 HIE
[Option ID = 253]
2. First 6 months /| 9219 6 AR

[Option ID = 254]
3. First 9months | 98H 9 #H1

[Option ID = 255]
4. None ofthese / 50T T &% =6
[Option ID = 256]

Correct Answer :-

®  First 9 months / 921F 9 #HF

[Option ID = 255]

65) MNew Pension Scheme (NPS)-Govt contribution is budgeted under which
Sub-Major Head (SMH ) and PUT

a5 WE A (TAdT) & WEU e e Iaeem o
(CHUHATH) I 9 & A deiied Toar S v7



[Question ID = 65][Question Description = Q65_AFA_NAIRAUG4]
1. SMH11&PUS9

[Option ID = 257]
2. SMH 11 &PUDS

[Option ID = 258]
3. SMH09&PUDS

[Option ID = 259]
4. SMHO01 &PUDS

[Option ID = 260]
Correct Answer :-
®* SMH11&PUDB

[Option ID = 258]

66) Unsanctioned Expenditure is reflected in:

SHEdichd o Tel#et # Tilellaln gidl &
[Question ID = 66][Question Description = Q66_AFA_NAIRAUG4]
1. Annexure A’/ FFeTAE A

[Option ID = 261]
2. Apnexure B’ | Feferdetah B’

[Option ID = 262]
3. Annexure 'C'/ 3ioaeidh C'

[Option ID = 263]
4. Annexure D'/ Fferdas T

[Option ID = 264]
Correct Answer :-
¢  Apnexure ‘A'/ Heleldedd A

[Option ID = 261]

67) Annexure'G' consists of

Annexure 'G" #H ... afta &
[Question ID = 67][Question Description = Q67_AFA_NAIRAUG4]
1. Block Account / SoTids @TAT

[Option ID = 265]
2.  Balance Sheet & P&L Account/ s ofie 3t Ot U v @ian

[Option ID = 266]
3. Bleck Account & Balance Sheet / &l @raT v e e

[Option ID = 267]

4. Bleck Account, Balance Sheet & P&L Account/
sR @, derg ofie 3w Ot U5 e @

[Option ID = 268]
Correct Answer :-

o Biock Account Balance Sheet & P&L Account/
sR @, derg ofie 3w Ot U5 e @

[Option ID = 268]



68)  Which ofthese Funds is not created out of Surplus?
Tl i 0 o | B 0 L B ) s B e G | ) e
[Question ID = 68][Question Description = Q68_AFA_NAIRAUG4]
. DF
[Option ID = 269]
2. DRF
[Option ID = 270]
3 CF
[Option ID = 271]
4. RRSK
[Option ID = 272]
Correct Answer :-
®* DRF

[Option ID = 270]

69) Accounts which are prepared in accordance with the requirements of
Government Accounts in Raillways are called

O # WENAT Giel &I HaFHaBT & HAaN o9 e 9w @) &
.......... FET T B

[Question ID = 69][Question Description = Q69_AFA_NAIRAUG4]
1. Capital & Revenue Accounts / Tl 37T T=1%d WY

[Option ID = 273]
2. Finance Accounts / fae @

[Option ID = 274]

3. Final Accounts/ 5 @1
[Option ID = 275]

4. General Accounts | T @IS
[Option ID = 276]

Correct Answer :-

®  Finance Accounts | faed @y

[Option ID = 274]

70)  Where can one observe the overall picture of the expenditure of a capital
nature incurred by Railway?

Yol aRT T U OSET WEf & T @ e Tuse avie T
AT AT HhaT 22

[Question ID = 70][Question Description = Q70_AFA_NAIRAUG4]
1. Loan Account/ 59T ©TdT

[Option ID = 277]
2. Block Account/ delich @Il

[Option ID = 278]
3. DRFAccount! SIHNTE TET

[Option ID = 279]
4. Demands Payable / & &I



[Option ID = 280]

Correct Answer :-

®  Block Account/ gelles @Il

[Option ID = 278]

71) Financial Appraisal of projects is worked out using:

[Question ID = 71][Question Description = Q71_AFA_NAIRAUG4]
1. DCF Technigue / SIHIUH Fehald

[Option ID = 281]
2. PERT

[Option ID = 282]
3. Depreciation Method / #edare faf

[Option ID = 283]

4. None of these / ST & #is 5
[Option ID = 284]

Correct Answer :-

® DCF Technigue / SIEIUE doeid

[Option ID = 281]

72) RORisnot applicable to
ROR Fe=faf@a ot oy 787 & |
[Question ID = 72][Question Description = Q72_AFA_NAIRAUG4]
1. Mew Lines /! 5 s
[Option ID = 285]

2. Passenger Amenities & Safety Works/ &l Sfawmi v SwaT &

[Option ID = 286]

3. Railway Electrification / YeTd faggrie{or

[Option ID = 287]

4. None ofthese / 558 ¥ &5 =6l
[Option ID = 288]

Correct Answer :-

® Passenger Amenities & Safety Works/ T4 SIaum vd &6 &

[Option ID = 286]

73) Two-Packet Tendering System is adopted in case of.

[Question ID = 73][Question Description = Q73_AFA_NAIRAUG4]
1. Single Tender / TereT fATdgr

[Option ID = 289]
2. ‘Open Tender /| @ell f=ifdgr

[Option ID = 290]

3. Limited Tender / TifET BiEEr

[Option ID = 291]

4. All of these | =187 & T&fy



[Option ID = 292]

Correct Answer :-

*  Open Tender / @eil f=fdgr

[Option ID = 290]

74)  Pre-Vetting of Tender Schedule is necessary for:
fAfaeT 3RgE & O GAET & folv 3maea & |

[Question ID = 74][Question Description = Q74_AFA_NAIRAUG4]

’ Works where Detalled Estimate is not prepared /
R B O e T s s e B R

[Option ID = 293]
2. Works of Urgent nature / Scai@ede Y & &4

[Option ID = 294]
3. Pink Book liems/ 9 9% #al & v

[Option ID = 295]
4. Al of these / =87 & &8

[Option ID = 296]

Correct Answer :-
Works where Detailed Estimate 1s not prepared /
U & o6l faead AR AR S0 har 1 &

[Option ID = 293]

75)  Tenders received before the time of opening but after the due date and
fime are called as:

Gas & W G g6 olfce eg O 3 9EE & A e
afaemsr & ... ET ST B

[Question ID = 75][Question Description = Q75_AFA_NAIRAUG4]
1. Late Tenders / &7 § 9o =ider

[Option ID = 297]

2. Delayed Tenders | fawfeaT =Eer

[Option ID = 298]
3. Single Tender /| Ushel ATder

[Option ID = 299]

4. None of these / 5147 ¥ &5 =nl
[Option ID = 300]

Correct Answer :-

® Delayed Tenders / fawifag =@gr

[Option ID = 298]

76) ADeposit Work of Rs 100 Crs.ean be sanctioned by:
100 315 T & FAT FH ... CANT Fdlpd foam o1 T &l
[Question ID = 76][Question Description = Q76_AFA_NAIRAUG4]
1. Chairman Railway Board | 37eTeT o9 a5
[Option ID = 301]

2. Minister of Railways /| {&eHr

[Option ID = 302]
3. Railway Board / ¥ @5



[Option ID = 303]
4. General Manager / HageE

[Option ID = 304]

Correct Answer :-

® General Manager / HaTekld

[Option ID = 304]

77) Tender Commitiee & Accepting Authority for Single Tenders should be:
e ey & fare ffser oM s e afed ... g
Bl

[Question ID = 77][Question Description = Q77_AFA_NAIRAUG4]

' One stage above the normal tenders [ G T ﬁ‘lﬁam‘r H Udh T{0] F4L

[Option ID = 305]
2. Two steps above the normal tenders [ §H S ﬁlﬁﬁﬂﬁ 2 O IO

[Option ID = 306]
Same level Committee as for Open Tenders /

> st F e R 6 e

[Option ID = 307]

4. None of these ! Sa87 & &I5 =6
[Option ID = 308]
Correct Answer :-
®  One stage above the narmal tenders | §HFTA HOEET § U6 9401 94

[Option ID = 305]

78)  Coniracts placed fo promote indigenous development of new technology /
technigues are known as

a5 wleaifErhliasei & TacRll [dee &1 gemn & & fov f&v o
el #Y & ®G F A=A B

[Question ID = 78][Question Description = Q78_AFA_NAIRAUG4]
1. Experimental Orders / 9Talfaes HTCRT

[Option ID = 309]

2. Developmental Orders | Ta@m™TH® 30

[Option ID = 310]

3. Indigenous Orders / TTHE HCIT

[Option ID = 311]

4. None of these / S8 & ®I5 Far
[Option ID = 312]

Correct Answer :-

*  Developmental Orders / ToeEHS HCT

[Option ID = 310]

79) Percentage of Mabilization Advancethat can be paid to the contractor is:

SHEN &I I (o3 ST Hehel dlel Hifdelsere= Hfad & ofaed §...

[Question ID = 79][Question Description = Q79_AFA_NAIRAUG4]
1. 5% of the contract Value /H=Ta4 Fed & 5%

[Option ID = 313]



2. 10% of the contract Value /3T=Tael e & 10%

[Option ID = 314]
3. 15% ofthe contract Value /=9 e &I 16%

[Option ID = 315]
4. 20% of the contract Value [371aY Hrd &I 20%

[Option ID = 316]

Correct Answer :-
¢ 10% of the contract Value /Sl e &l 1086

[Option ID = 314]

80) as per GCC (General Conditions of Contract), Quantities operated more
than 125% but below 140% will be paid at the rate of

SR (HegerT T S o) F O HEEN, 125% § HfE ofte 1a0% §
& TElleld HAET & ST oo &l g W Tebar e /

[Question ID = 80][Question Description = Q80_AFA_NAIRAUG4]
1. 98% of accepted rate | Edidhel T & 98%

[Option ID = 317]
2. 96% of accepted rate / thﬁ{ T & 96%

[Option ID = 318]
3. 049 of accepted raiefﬁﬁﬁ;_rf G4 @ 94%

[Option ID = 319]

4. None of these / 5577 & ®i5 =50
[Option ID = 320]

Correct Answer :-

® 98% of accepted rate | Tdlhe &1 &1 98%

[Option ID = 317]

81) RevenueAllocation Register (RAR) is maintained to facilitate:
T=red HThe=T (Toied (ANTHN) &1 Eal I Hiaer
& o far o &)
[Question ID = 81][Question Description = Q81_AFA_NAIRAUG4]
1. Control over Expenditure / 57T 93 fHaF07
[Option ID = 321]
2. 19 keep record of Expenditure / T3 &1 IFTS T
[Option ID = 322]
3. Expenditure under prescribed heads / e sfit & 3T =g
[Option ID = 323]
4 All of these / =18 & el
[Option ID = 324]
Correct Answer :-
® Allofthese / 5= & @8l

[Option ID = 324]

82)  PlanHead 6500 deals with:
=T 2fde500 ..., T Hatea gl



[Question ID = 82][Question Description = Q82_AFA_NAIRAUG4]
1. Other Specified Works | 37 Rese &Ry

[Option ID = 325]
2. Research and Design Works / 3¥sier= 31 Baga &/

[Option ID = 326]

3. Training Institutes-HRD Work / ST2159T TE=R-HTad GO 00T &
[Option ID = 327]

4. Computerization Works / FECIE@0T HI
[Option ID = 328]

Correct Answer :-

®  Training Institutes-HRD Work / 9318707 SEURaladg Som= @ Fe

[Option ID = 327]

83) Final Location Survey is conducted for:
FHid# vue gdaror has fov 3rdifaa Gar o

[Question ID = 83][Question Description = Q83_AFA_NAIRAUG4]

1. Close Estimation and probable Cost of the Project /
GRS @ 30 e AR g e

[Option ID = 329]
2. Estimation of Traffic Projections / AT 3=IATAT §I 3elH=

[Option ID = 330]

3. Determining technical feasibility / Fo=khl TagRIan &1 oo
[Option ID = 331]
4. Selecting Alignment feasibility / T{EYT TOdgRidT &7 T4

[Option ID = 332]
Correct Answer :-
*  Selecting Alignment feasibility / T@YT TIGEIAAT & T4

[Option ID = 332]

84) Performance Guarantee forworks has to be submitted within:

@l & fov Feges et & Mo TEd @l A Bl
[Question ID = 84][Question Description = Q84_AFA_NAIRAUG4]
1. 90days/ gs

[Option ID = 333]
2. g0days/ &=

[Option ID = 334]
3. a5days/ e

[Option ID = 335]
4. 30days/fce

[Option ID = 336]
Correct Answer :-
®  §0days/ fea

[Option ID = 334]

85)  Construction of new quarters is chargeable to:



[Question ID = 85][Question Description = Q85_AFA_NAIRAUG4]

1. Capital

[Option ID = 337]
2 DF

[Option ID = 338]
3 DRF

[Option ID = 339]
4. SRSF

[Option ID = 340]

Correct Answer :-
L]

Capital

[Option ID = 337]

86)  The timelimit for submitting of claims for Travelling Allowance 1s within
days.

I & F U S|t WA F AT TES-H foait & #fiew
il

[Question ID = 86][Question Description = Q86_AFA_NAIRAUG4]
1. 60 days/fe=
[Option ID = 341]
2. 45days/fes
[Option ID = 342]
3. B0days/fe=st
[Option ID = 343]
4 180 days / feat
[Option ID = 344]
Correct Answer :-
* g0days /T

[Option ID = 343]

87) Forclaiming CTG, transferee/retiree needs to submit which documents?

IS &1 glar &3 & (oY, TAdRa/Adi=iga & &= & goardst
EAA B BIAT?

[Question ID = 87][Question Description = Q87_AFA_NAIRAUG4]

1. Proof of change of residence / e 9iad= =5 9791

[Option ID = 345]
2. Proof of Journey [ TTAT T HT07

[Option ID = 346]
Both the above documents specified in (A) & (B) /
IUAHT Gl axciest SA) ve (e)# fAfRse § |
[Option ID = 347]

4. Any of the above documents specified in (A) & (B) [
(A) U (B)F TATGSe IIw qeddsl & & &g o |

[Option ID = 348]

3.

Correct Answer :-



Any of the above documents specified in (A) & (B) /
(A) T (B)3F FAfGTe IRIET geamsi 7 I &3 o |

[Option ID = 348]

88) The Salary Bill submitted te Accounts Office for passing should be
accompanied by:
vEl wRe # 9Nd e & U UFdg dde Waa & e
1T =MRT|

[Question ID = 88][Question Description = Q88_AFA_NAIRAUG4]
1. Memorandum of Difference/ 3d¥ &1 719+

[Option ID = 349]
2. Scale-Check Statement /Fohel-te aalel
[Option ID = 350]
Verified claims of the employees viz TA/OT ete. included in the pay bills
and deduction/recovery statements
FAAME & Feafud o S ST 3nfe 3a= fae div setdvage
Tarawor & enfier g

[Option ID = 351]
4. All of these / S & 9T

3.

[Option ID = 352]

Correct Answer :-

* Al ofthese / 3o T Tl

[Option ID = 352]

89) Thetotal leave encashed during the entire career shall not exceed:
FEQUT IR & GRIA ARGl 1 A Fe gedt 3
HATIF 6T BN
[Question ID = 89][Question Description = Q89_AFA_NAIRAUG4]
1. g0 days/ o=
[Option ID = 353]

2. s days/fea

[Option ID = 354]
3. 70days/! TG

[Option ID = 355]
4. 100 days | BT
[Option ID = 356]
Correct Answer :-
*  B0days/fes

[Option ID = 353]

90) Forclaiming reimbursement of CEA, the Govi employee should produce;

farer Rleter s/ & gfagfd & g S & T SR A @
ST Sl fam|

[Question ID = 90][Question Description = Q90_AFA_NAIRAUG4]
Bonafide Certificate issued by the School for the academic year/

b e av & v o qaw 9t BT TR andias T o



[Option ID = 357]
2. Self-attested copy of the Report Card / RIE 15 & Ta-Foandg 9fa

[Option ID = 358]
3. Seli-attested copy of the fee-receipts for the entire academic year/

ot AEfte av & o ew el #1 T e ofq
[Option ID = 359]
4. Any of these /538 § w5 &7
[Option ID = 360]
Correct Answer :-

* Any of these /5397 T &5 &7

[Option ID = 360]

91) The reimbursement of CEA/Hostel subsidy can be claimed only for

farey fawTor srem/omETary wfews & afaafd & z@r Sa ....... & faw
foam 51 s B

[Question ID = 91][Question Description = Q91_AFA_NAIRAUG4]
- Twao children / gT @&
[Option ID = 361]
2. Two Eldest children / 2T Ta§ a2 gt
[Option ID = 362]
3 Three children / T T2
[Option ID = 363]
4. Two Eldest surviving children /27 S99 &5 Sildd d=d
[Option ID = 364]

Correct Answer :-

*  Two Eldest surviving children /&7 ¥99 a5 Sildd o

[Option ID = 364]

92)  Theamoaunt of reimbursement of CEA in respect of differently-abled-
childrenis:

femamr a=a) & "oy & WS &7 9ol & &l

[Question ID = 92][Question Description = Q92_AFA_NAIRAUGA4]
1. Same as the amount admissible to normal children /

T o] &l o SAle diell UTel & Sl
[Option ID = 365]
Double the amount admissible to normal children /

2. .
AT do=l &l &1 oI arell WIS/ gEET [
[Option ID = 366]
3 Triple the amount admissible to normal children /
AW F<El H G A aren e § die aE Ol
[Option ID = 367]
4. 1.5 times the amount admissible to normal children /

AT @l & o] SileT dfell WA & 5& I e
[Option ID = 368]

Correct Answer :-



Drouble the amount admissible to normal children /
AT de=il &l 1 el arell Uier ¥ SrRET [

[Option ID = 366]

93)  What s the maximurm amount of DCRG payable at present as per VI
CPC when the DA has became 50%7

TGO # VI CPC & 39K ¢ DCRG &1 dfteas Ufer &= § 5«
AGINS 87T 50% BT I &2

[Question ID = 93][Question Description = Q93_AFA_NAIRAUG4]
1. Rs20lakhs /%. 20 &g

[Option ID = 369]

2. Rs25lakhs /5. 25 o@
[Option ID = 370]

3. Rs40lakhs /%. 40 oG

[Option ID = 371]
4. Rs 30lakhs /&, 30 @@

[Option ID = 372]
Correct Answer :-
® Rs25akhs /%, 25 W@

[Option ID = 370]

94)  In no case retention of Railway Quarter should exceed from the date of
retirement or date of school- season whichever is earlier

TerelT off FFTEr # Yod Fdicy I TRV Galfedia Hf AR a7 Tehe-
HieTe &7 aRkE W 31eeE el 8= @iy, & &1 g6 81

[Question ID = 94][Question Description = Q94_AFA_NAIRAUG4]
1. gMonths / #TE

[Option ID = 373]
2. 12 Months [ HIg
[Option ID = 374]
3+ 4 Months / HlE
[Option ID = 375]

4 6 Months / #TE
[Option ID = 376]

Correct Answer :-

®  8Months / #TG

[Option ID = 373]

95) Retention of Railway accommodation on medical grounds beyond the
permissible period as a Special case requires approval ot

fady #Fe & 9 #F Fikcd AR W {7 09 § AkF T67
% (09 A & A 9 WA & FT e @ el H
HTERTEAT BT B

[Question ID = 95][Question Description = Q95_AFA_NAIRAUG4]
1. ‘General Manager | HeIqae®

[Option ID = 377]



2. Railway Board/ T &5

[Option ID = 378]
3. PFA/ wEe fod SogaR

[Option ID = 379]

4. PCPO/ eI HEA Hiffe ANERT
[Option ID = 380]

Correct Answer :-

*  Railway Board / Tod a5

[Option ID = 378]

96)  \When no leave is admissible under any other rule, the leave granted is

kriown as:
st faell siea s & ded #15 gedl T A8 g & & o
gedl & & T H AT AT 5

[Question ID = 96][Question Description = Q96_AFA_NAIRAUG4]
. Leave on Average Pay / H18d 95 T Bedl

[Option ID = 381]
2. |eave on Half-Average Pay / 3/)-3i16d dd= 90 gl

[Option ID = 382]
3. Commuted Leave / aitafdd saewmr

[Option ID = 383]
4. Extraordinary Leave / 3ERIROT Teel

[Option ID = 384]

Correct Answer :-

¢  Extraordinary Leave / 3TTRIRTT © el

[Option ID = 384]

97)  What is the maximum limitation of Leave Mot Due granted on' medical
grounds during the entire period of service?

wor der S & e Rfew uR W) ThET T Hawe
HTEFTH HHAT = 62

[Question ID = 97][Question Description = Q97_AFA_NAIRAUG4]
1. 240 Days/TgA

[Option ID = 385]
2. 380 Days/Tea

[Option ID = 386]
3. 200Days/ fear

[Option ID = 387]
4. 3e5Days/fea

[Option ID = 388]

Correct Answer :-

*  360Days!fca

[Option ID = 386]



98) The monthly Railway Gontribution far employees under New Pension
Scheme (NPS) with effect from 2019 is:

2019 § 95 YA AT (TAYCH) & J6d FHAIRAT F o AEE Lo
g &
[Question ID = 98][Question Description = Q98_AFA_NAIRAUG4]
1. 10% of Pay + DA
[Option ID = 389]
2. 159 ofPay + DA

[Option ID = 390]
3. 14% of the Pay + DA

[Option ID = 391]

4. None of these /| 58 & $I5 =161
[Option ID = 392]

Correct Answer :-

®  14%ofthe Pay + DA

[Option ID = 391]

99)  Which of the following 1s Annuity Service Provider?
AFAfaf@a & & &I afte! Jar 9grar &7

[Question ID = 99][Question Description = Q99_AFA_NAIRAUG4]
1. Life Insurance Corporation of India (LIC) / STRcHE Siaet @@ f=eme

[Option ID = 393]
2. Public Sector Banks/ Sra=Ti=i &9 & dF

[Option ID = 394]
Frivate Sector Banks/ &= 813 & da

[Option ID = 395]
4. NBFCs

[Option ID = 396]

Correct Answer :-

®  Life Insurance Garporation of India (LIG) / sTRA Siig= aiET f=@me

[Option ID = 393]

100) Child-Care Leave eligible for single-make-parent is:
Uthel HHHAES & [ol0 TRLETHTT gl arsen &l

[Question ID = 100][Question Description = Q100_AFA_NAIRAUG4]
1. 385Days/f&=1

[Option ID = 397]
2. 730Days/Ted

[Option ID = 398]
3. 500Days /| fe=r

[Option ID = 399]
4. 180 Days | &=

[Option ID = 400]

Correct Answer :-



® 730 Days/ &=

[Option ID = 398]

101) All the Receipts Registers maintained In the ‘Receipt Section’ of Stores
Depot are subject to inspection by:

#sRk BT & witad ¥y # W oo Wi ofa deew
gar falieTor & e 21

[Question ID = 101][Question Description = Q101_AFA_NAIRAUG4]
1. Depot Officer / =0T 3EwrT

[Option ID = 401]

2. Ward Keeper /@15 19T

[Option ID = 402]
3. Accounts Stock Verifier (ASV) / 9/ET Tid Tl

[Option ID = 403]
4. Works Manager of User Depariment /| STT1TedT Ta8TeT o 1Y Taered

[Option ID = 404]

Correct Answer :-

*  Accounts Stock Verifier (ASV)/ oT@T Iid ToaM=idar

[Option ID = 403]

102) It is observed by Accounts Stock Venfier that matenals are received in
advance for which decuments are not received/required to be pursued,
such items should be booked to:

Gl TR Gcaesdl gal 96 &@1 I & T, U @ehar #EE w9
I 91T & Sl B S o gEds avd F@6r §U R e smr
g thl HTGWRbdl <inl b, QHI TRl &1 . & g fEwar e
Tifga] /

[Question ID = 102][Question Description = Q102_AFA_NAIRAUGA4]
1. Purchases Account / TEEHRT T

[Option ID = 405]
2. Stores in Stock Account | TEle @Td $h GEAEET

[Option ID = 406]
3. Advance Receipts Account/ 3T Wifcd @rAT

[Option ID = 407]
4. Stock Adjustment Account / Teid THENSE @Il

[Option ID = 408]

Correct Answer :-

®  Stock Adjustment Account / Teid GHESE @Al

[Option ID = 408]

103) In the case of materials issued to Foreign Railways for which necessary
‘Debits’ are to be rased by operating ... ... through Stores Accounts
Office and transactions cormpleted before closure of Quarterly Accounts.

el wa &1 S &7 75 FAEE & A A, e W dsR o
FEOE & AEGH G Wit & IR Sk
Fravad S Few o § our T @idl & g 8l @ 95 oeae
g f&ar S R




[Question ID = 103][Question Description = Q103_AFA_NAIRAUGA4]
1. Stock Adjustment Account ! TE19 THETEE Gl

[Option ID = 409]
2. Stores in Stock Account/ T2l T FHr grEEET

[Option ID = 410]
3. Miscellangous Advance Account/ Tafaer HTae QAT

[Option ID = 411]
4. Purchase Suspense Account [ WG FEUH @A

[Option ID = 412]

Correct Answer :-

® Miscellaneous Advance Account/ Tafaer 3ifEs @mT

[Option ID = 411]

104) Departmental Stock Verification is done to verify:
Tasmefa weiF oame TTIT &= & o fmar & 8

[Question ID = 104][Question Description = Q104_AFA_NAIRAUG4]

The balances in Stores Ledger are agreeing with Actual Physical
1. Stock Balance /

HEW o= A divd 909, aredide difde Tiedy & 9 & |1 @b

[Option ID = 413]
The balances in Purchase Suspense are agreeing with Actual Physical
2. Stock Balances/
T GEUT # avid 9, andids Siioe TeeeT O # @1 @ o

[Option ID = 414]
The Balances in Stores Ledger are agreeing with Stock Adjustment
Account /

HEN o F aivia Y Wik G 9 F A9 9T 6T 6 |

[Option ID = 415]

3.

4. Thebalances in Stores Ledger are agreeing with Priced Ledger /
HSR oy # afoid O, Hed o & #e @1 W &

[Option ID = 416]
Correct Answer :-

e Thebalances in Stores Ledger are agreeing with Priced Ledger /
HSN P & afold 9, Fed oeik & el @l 16 B

[Option ID = 416]

105) The Depot Officer may waive or postpone the Departmental Stock
Verification ternpaorarily because

2T 3R AT woie Ocdida &f 30l &9 & 71 @ =g
Y Tl & Fl |

[Question ID = 105][Question Description = Q105_AFA_NAIRAUG4]

The items have been verified by ASV (Accounis Stock Verifier) within last
3 months /

s 3 #gE1 & gy Fsew &1 vUHdl (@ Tk ScaTdeddl) A
Heardd fhar [ &
[Option ID = 417]
. The Accounts Stock Verification is in progress /
QAT & =6 9edg" 99 9K & |

1.

[Option ID = 418]



Where the item has heavy balances and the verification of which involves
much labour and handling charges /
SRR 7 Featas AT o AR F6E I # agg s AT

3T gsfeiar eres amiele &l
[Option ID = 419]
4. Allofthe these / 5= & T&T

[Option ID = 420]

Correct Answer :-

* Al of the these / S=4T & &l

[Option ID = 420]

106) Cost of Stores Department, Depreciation on buildings and equipment of
Stores Deptt, inland-handling and freight charges, debits from Stock
Adjustment Account and rectification of defective storas in PUs are known
as:

HSN AT T O, R TR & s A 3T WO Arae,
Facelia fsteer 3R A0 oIS WAR, Tckh GAEEE @id 8 sfae AR
Felea SHsdl # I HSW & WER, & e
# S ST Bl

[Question ID = 106][Question Description = Q106_AFA_NAIRAUG4]
1. Fagtory Overheads | FHREET 39T

[Option ID = 421]
2.  Stores Overheads / 8T 39T{ead

[Option ID = 422]

3. Township Overheads | FrRT 9T

[Option ID = 423]
4. Administrative Overheads / Qe 39T

[Option ID = 424]

Correct Answer :-
®  Stores Overheads /| S5TT 39T

[Option ID = 422]

107)  In the case of wrong accountal of material by wrong Allocations in the
Stores Monthly Summaries, to regularize the transactions

TR AldE WA A Aeid ded GaRl ARl & aeid oi@ihd &
HHe #, ol &l [#aiAd &l & o0 I

[Question ID = 107][Question Description = Q107_AFA_NAIRAUG4]
1. Debit Mema is issued / 3fe &1 S0 Fear ST B

[Option ID = 425]
2. Credit Merno is issued / &Tee FAT SRy Tmar =Iam &

[Option ID = 426]
3. Write Back Orders are made /T5¢ dF G ST [0 AT &

[Option ID = 427]

4. None of these / Se197 & FI5 =T8T
[Option ID = 428]

Correct Answer :-

®  Write Back Orders are made /{5 d& HIC 140 fr 90 €

[Option ID = 427]



108) The are posted by the Workshop Accounts Officer after
closureof wark-orders of the items as per the actual out-turn cost worked

out
FREE ol AREN ga, aea § FR-AeE & O & a9
arEdfad JETd & AT, ure fE S 2

[Question ID = 108][Question Description = Q108_AFA_NAIRAUG4]
1. Priced Ledgers / #FT o=C
[Option ID = 429]
2. Numerical Ledgers / TEIcHE #llaid
[Option ID = 430]
3. Purchase Ledgers /| &9 el
[Option ID = 431]
4. Dutturn Ledgers | HT3ec oot

[Option ID = 432]

Correct Answer :-

® Priced Ledgers /| T T=C

[Option ID = 429]

109) The effectiveness of Inventory Control in Indian Railways is judged with
reference to:
HRAT 69 & Seaci a0 & GEaRiiedr S Hhd= (e Toa A
TeRam ST 82

[Question ID = 109][Question Description = Q109_AFA_NAIRAUG4]
1. Stores Operating Ratio / $5I 9RETel 39d

[Option ID = 433]
2. nventory Turnever Ratio / SFae sl Za3{ET 390

[Option ID = 434]
3. Economic Order Quantity Ratio / 31f3e 3eer @/ HeAAd

[Option ID = 435]

4. None of these / S8 © FIs g
[Option ID = 436]

Correct Answer :-

® Inventory Tumover Ratio / SIcq ZeBiET Hadia

[Option ID = 434]

110) ©On introduction of in the Stores Organization the
integration of Stores Ledgers of all Depots of a Zonal Railway is taking
place fo avoid accumulation of over-stocks.

SER TEA H & 9F B =, AT Feld &
g § g9 & o 66 Wd F we 5O & oER staar &
ThiaoT TR T T ol

[Question ID = 110][Question Description = Q110_AFA_NAIRAUG4]
1. AIMS

[Option ID = 437]
Z. MMIS

[Option ID = 438]
3. IMMS



[Option ID = 439]
4. IPAS

[Option ID = 440]
Correct Answer :-
®  IMMS

[Option ID = 439]

111) InStore Bills advance payments can be made up to:

[Question ID = 111][Question Description = Q111_AFA_NAIRAUG4]
1. 50%
[Option ID = 441]
2 75%
[Option ID = 442]
3. 95%
[Option ID = 443]
4 o8%

[Option ID = 444]

Correct Answer :-

®  98%
[Option ID = 444]

112) Reverse Auction is a term used to mean:

o e Th s B e H E

[Question ID = 112][Question Description = Q112_AFA_NAIRAUG4]
Bids placed by purchaser of Railway Scrap /

W THT &l gaRT oS IS afe

[Option ID = 445]
Bids placed by Railway during purchase in IREPS /

HEANSACH & @Wig & SR (old Sany ofns 15 difer

[Option ID = 446]
3. Bids of Railway Suppliers during purchase of materials in IREPS /

FrEEdeT & "l Fr @l & e T safaedE fr e
[Option ID = 447]

4. Noneofthese / 38 & FI5 =g

[Option ID = 448]

2.

Correct Answer :-
Bids of Railway Suppliers during purchase of materials in IREPS /
sresREded #F aeel &1 @le & elus Yad sgfaeandt £ e

[Option ID = 447]

113) Sales Suspense Is credited when
oy et o St o S € o

[Question ID = 113][Question Description = Q113_AFA_NAIRAUG4]
1. Purchaser deposits money / &dT 2@ TR AT 6T ST &

[Option ID = 449]
When scrap-material is delivered to supplier /

S T AT 3Yfced] @1 faafia &1 Sl &

2.



[Option ID = 450]

3. When material is scrapped { S GIHAT F THT T GAT AT &
[Option ID = 451]

4. Beth A& B' /A TT 'BUERT

[Option ID = 452]

Correct Answer :-

® Purchaser deposits money / AT =10 [T AT T AT B

[Option ID = 449]

114)  InWMS Budget, ‘Issues to Stores’ means:
WMSTTe &, “Bl5K & SR ST &l 30 & |

[Question ID = 114][Question Description = Q114_AFA_NAIRAUGA4]
1. Material manufactured by Workshop to be stocked in Depot /
FRATET ganT fAfHAa TR, 30 7 wie & Sl
[Option ID = 453]
o, Material returned by Shop-floor as it is excess /
AR Zary Tl & HIANET 819 & FROT agy HT &7
[Option ID = 454]
3. Material got from other depots in cases of shortage/

FHT BleF o1 Ifa F 3w BT F g Jaae
[Option ID = 455]
4. MNoneof these/ 558 & &5 =4l

[Option ID = 456]

Correct Answer :-
o Materal manufactured by Workshop to be stocked in Depot /
FREET Ganl fAHd w#E, B # Wi & Sl

[Option ID = 453]

115) Forpurchases made through GeM, billing is done:
GeM®F #EaH §F &7 715 Wl & fov #F fafeer &1 I & |
[Question ID = 115][Question Description = Q115_AFA_NAIRAUG4]
. On GeM Portal itself /GeM Tew 9% &
[O_ption ID = 457]

2. On GeM Portal and linked to IPAS /
GeM iter v 30 ipas & Toie & &ar srar &

[Option ID = 458]
3. OnIPAS which gets receipt details from IREPS/
HETUUH W, ST AU ¥ Wity faewr oed & b
[Option ID = 459]
4 None ofthese /| 18 T a8

[Option ID = 460]

Correct Answer :-
On GeM Portal and linked to IPAS /
GeM WIEw Ut 3T ipas & Toid & fear Aer &

[Option ID = 458]

116) Theestimated cost for warks undertaken in workshop shall incorporate:

FRETT # U AT @l @ A AT a7 ATTET EHT)



[Question ID = 116][Question Description = Q116_AFA_NAIRAUG4]
1. Supervision Charges | T3a&T9T 97
[Option ID = 461]
2. Direction & General Charges / @ 31K T#H 3o
[Option ID = 462]
3. Contingencies | HTeTEHS o
[Option ID = 463]
4. All of the these /518 & &BiT

[Option ID = 464]

Correct Answer :-
® Al of the these / S=18T & T3iT

[Option ID = 464]

[Question ID = 117][Question Description = Q117_AFA_NAIRAUG4]
1. ‘Plan Head 21 /Jist=r 2fie 21
[Option ID = 465] _
2. PlanHead 41 /Jr== o 41
[Option ID = 466]
3. Plan Head: 42 / g ofrd 42

[Option ID = 467]
4. Plan Head 16/ 3t o 16

[Option ID = 468]
Correct Answer :-
®  Plan Head 21 / gtstam ofid- 21

[Option ID = 465]

118) The proposals are verified by the Departments and sent for concurrence
of and approval of for making final proposals for
itemized RSP of Railway.

UEdmdl @ TOeeEl gERT §cidd GRSl & AR Yed o A
IReEd & ffv #fow wom a= e i & weaAfd i
& FaHeer & T S5 I f

[Question ID = 118][Question Description = Q118_AFA_NAIRAUG4]
- WAQ HOD

[Option ID = 469]
2. FA& CAQIPFA GM

[Option ID = 470]
3. PFA's Office: PHOD of User Deptt.

[Option ID = 471]

4. MNone of these | 5T T &5 A0
[Option ID = 472]

Correct Answer :-
® FA&CAOQ/PFA: GM

[Option ID = 470]



119)  After the approval of the Budget Grant, the Pink Book with allocation for
Bulk and Non-Bulk tems is issued which is an authorized document which
Is treated as:

I T & FIAEA & 95, 9% 3N uF TG F e Eed
& w9 gk SN FT SR & ST U AiEEd grdee & ST F
HET AT 8]

[Question ID = 119][Question Description = Q119_AFA_NAIRAUG4]
Authority to commence works on procurement of Rolling Stock /

T =ie & Tl T FE 4 & & ol TfErsor
[Option ID = 473]
2. Estimates are prepared for cormencement of works /

FIE YR &= & (U FFAE AR U ST @ B

[Option ID = 474]
Shows the throw-forward items indicating work-in —progress |

FREGATT B ST BT arel YIHIdS a3l & g &
[Option ID = 475]
4. All of the these / 5e97 & &=y
[Option ID = 476]
Correct Answer :-

® Al ofthe these / =197 ¥ TaT

[Option ID = 476]

120) The Rolling Stock Programme is to be cleared by Finance Directorate of
Railways with the approval of

AT =i F9FH & W & fag Feuerr gant &
G § HI &1 S f

[Question ID = 120][Question Description = Q120_AFA_NAIRAUG4]
1. Executive Director (Budget) el e @=ic)

[Option ID = 477]
2. Principal Executive Director (Finance) | TT AT facers ()

[Option ID = 478]
3. Member Finance/ S&F o

[Option ID = 479]

4 None of these | S=iff & @15 =81
[Option ID = 480]

Correct Answer :-

®  Member Finance/ To&d fad

[Option ID = 479]

121) MA&P Programme is drawn by each Railway under.
H Us 0T FEFH Gode od gart & d6d aa) o S g

[Question ID = 121][Question Description = Q121_AFA_NAIRAUG4]
- Plan Head: 21 / grst=m 9 21

[Option ID = 481]
2. Plan Head: 41 / Ziaf=r oiid: 41

[Option ID = 482]
3. Plan Head: 42 / Zirsir o 42



[Option ID = 483]
4. Plan Head: 16 / @rer=m ofid 18

[Option ID = 484]

Correct Answer :-

o  Plan Head 41 | @i=t=m 2ig- 41

[Option ID = 482]

122) M&P proposals initiated under Gapital, DRF, DF and on Additional
Account should be supported with and duly
vetted by Associate Finance.

Jail, SIRUH, SI0h A AfARTT @ & d6d 4F fhr aw wHusd
gTaTdr F meaRt faw caw RfEeg Sm 9a EiIEy
& Ty T foar S g

[Question ID = 122][Question Description = Q122_AFA_NAIRAUG4]
1. Approval & Sanction / Hef#Hlg= Ud FHl

[Option ID = 485]
2. Specifications and Recormmendation / faf@ées 3R wedia

[Option ID = 486]
3. Financial Justification and Rate of Return | T e #iv ofawe &¢

[Option ID = 487]
4. Allthe of these / S=0T & TT

[Option ID = 488]
Correct Answer :-
®  Financial Justification and Rate of Return | Tadm 3o 3 ofawer X

[Option ID = 487]

123) Augmenting Revenue by taking up orders from private parties by utilizing
surplus capacity is resorted to

HENY ST FT I FF, el oAl § 3 99 Ued 7 g
T ST arer il @ A9 T S & e |

[Question ID = 123][Question Description = Q123_AFA_NAIRAUG4]
Only when full-capacity utilization is not achieved by existing Railway jobs
on hand.
dhae el Sia Yo & Afer Frt GaRT vt SET o 3R S e
ERED

[Option ID = 489]
2 Works nat taken up due to budgetary constraints
AR AERAT & FROT H A T 7 T
[Option ID = 490]
3 Both'A'&'B'/A'wa B g
[Option ID = 491]
4. MNone of these | 38 | &I5 =al

[Option ID = 492]

Correct Answer :-
® Both'A'&'B'/ A Ta B gl

[Option ID = 491]



124) The activity of ‘Manufacture’ of Rolling Stock of IR is the funiction of

aRAE Yo & e w=iw & T & afafaf Gae w3 &

[Question ID = 124][Question Description = Q124_AFA_NAIRAUG4]
1. Loco Sheds and RITES / il 915 w7l T5¢q

[Option ID = 493]

2. vendors & RDSO/ Taar va sesives

[Option ID = 494]
Production Units and Zonal Workshops & External Manufacturers/

3.
ICUIEST Saisdl 3 aEE eRae i and BT
[Option ID = 495]
4. Locomotive Production Units and MLR shops /

AT ITe Sheal AR THTER oy
[Option ID = 496]
Correct Answer :-

Production Units and Zonal Warkshops & External Manufacturers /
ICUCA sesdl HI ST wRanT A andr SEEr

[Option ID = 495]

125) Which ofthe following is not a method of Costing?
rafafag § ¥ ®iF & oee T & B =8
[Question ID = 125][Question Description = Q125_AFA_NAIRAUG4]

1. Job Costing / T SHETT

[Option ID = 497]
2. Marginal Costing / ST oET

[Option ID = 498]
3. Process Costing / Sféar &1 @

[Option ID = 499]

4. Operating Costing / GTETeRT ST
[Option ID = 500]

Correct Answer :-

Marginal Costing / S=id #Ed

[Option ID = 498]

126) The time lost due to lack of work, machine repairs, lack of tools etc. i1s
knownas:

W#mmmﬁﬂmm#mmmwwg
TET & FT HET T 57

[Question ID = 126][Question Description = Q126_AFA_NAIRAUG4]
1 idie Time / ST 83

[Option ID = 501]
2. Allowed Time / T THY

[Option ID = 502]
3. Booked Time /&% &1 IT WA

[Option ID = 503]

4. Naoneofthese/ S5 9 &5 =

[Option ID = 504]



Correct Answer :-

®  |dle Time / ETewT Tag

[Option ID = 501]

127) ldle-Time expenditure is charged to :

TATSha §HT a&] CART 9HIE feham =mar & |
[Question ID = 127][Question Description = Q127_AFA_NAIRAUG4]
1. Shop-on-Cost Work Order / ST 3=-a 152 F1T e

[Option ID = 505]
2. General-on-Cost Wark Order | STHAI-H=-HIec &R J1e9r

[Option ID = 506]
3. Proforma-on-Cost Work Order [ STREE-3Ta-h1ce F 31890

[Option ID = 507]

4. None of these /58 & &5 =60
[Option ID = 508]
Correct Answer :-

*  Shop-on-Cost Werk Order / ST 3Te-alee & FET

[Option ID = 505]

128) TheDebits for materials supplied from Stores Depots to Workshaops are
raised through

T 50T § FREET g6 19 ST % FEREE & v sk Fee
FIEAH I ST AT b2

[Question ID = 128][Question Description = Q128_AFA_NAIRAUG4]
1. Work-Orders / @2L3TEer

[Option ID = 509]
2. |gsue Motes [ SINT A

[Option ID = 510]
3. Receipt Notes / 91fee =ie

[Option ID = 511]
4. All of these | SeT#T T T3l

[Option ID = 512]

Correct Answer :-

®  |Issue Notes [ ST e

[Option ID = 510]

129) Receipts Note is issued far material received through .
it =ie & HEAH O U @Eal & fee S ar S &)

[Question ID = 129][Question Description = Q129_AFA_NAIRAUG4]
1. Stores Depot/ 875 =0T

[Option ID = 513]
2. Direct Purchase ! 9ea&T i

[Option ID = 514]
3. Transfer of Material / ST & TR0

[Option ID = 515]



4 None of these/ 98 & &5 =00
[Option ID = 516]

Correct Answer :-

® Siores Depot / 9SSR =0T

[Option ID = 513]

130) ‘Workshop Manufacturing Suspense (WMS) falls under which Head of
Account:

FREET AT ger (wivs) & dar ot & A s E

[Question ID = 130][Question Description = Q130_AFA_NAIRAUG4]
1. Capital Suspense PH 7200 / 9Tl TEUH PH 7200

[Option ID = 517]
2. Capital Suspense PH 7100 / Gai1aTd S PH 7100

[Option ID = 518]
3. Capital Suspense PH 7300 / Goitaid §E9% PH 7200

[Option ID = 519]

4. Noneof these/ 308 9 &5 7g
[Option ID = 520]
Correct Answer :-
® Capital Suspense PH 7200 / GoTreTe S0 PH 7200

[Option ID = 517]

131) lItis checked to'see that the Imprest Cash supplied to the station is to be

shown on of Balance Sheet.
UG ¢+l oh [olT Slid @ ofidl & Teh, e @l mﬁiﬁr'ﬂ?mﬁm
Ay, dv | e W ZEE S g

[Question ID = 131][Question Description = Q131_AFA_NAIRAUGA4]
- Debit Side / 3 TaT

[Option ID = 521]
2. Credit Side / HfeT WY

[Option ID = 522]
3. Beth Debit & Credit Sides / E191 3fag g e uaT

[Option ID = 523]
4. Closing Balance /| TH9T 919

[Option ID = 524]

Correct Answer :-

®  Both Debit & Credit Sides / 21971 2T U9 wET ey

[Option ID = 523]

132) All Tickets issued by UTS can be issued by JTBS except :

FEUH qart S Ty e S gant ST T AT WAl B,
o F|

[Question ID = 132][Question Description = Q132_AFA_NAIRAUG4]
1. Concessional Tickets / Ramar Rae

[Option ID = 525]



2. BPTs/ ddET

[Option ID = 526]
3. Platform Tickets/ Toe®RT Bae

[Option ID = 527]
4. Season Tickets / F fesre

[Option ID = 528]

Correct Answer :-

®  Concessional Tickets / Ramdr @se

[Option ID = 525]

133) The Money Value Books, e, BFT/EFT/MR kept with CRS should be
linked and checked by Sr. TIA fortheir
HiHReE & o @ g F dew a9, A aderSTRd e S
o o ser afer At i fose gamr 39 &I
S I A= AR
[Question ID = 133][Question Description = Q133_AFA_NAIRAUG4]
- Continuity in consumption | 3Fs71T & fHarar
[Option ID = 529]
2. Use & availability at the location / T2T= 9T 39417 T Iqoesidl
[Option ID = 530]
3. Proper record is kept at the location / Tame1 @ 3T f=is w@r si=n
[Option ID = 531]
4. Allofthese | $391 & 891
[Option ID = 532]
Correct Answer :-
® Allofthese / 3= & §ar

[Option ID = 532]

134) Alithe Accounting Reports and other documents are subject to TIA's
checkin‘India Post PRS Location' at least on a .

it oy e 3R e e & § o eI
i UIUT wiee H CReU o A & 3R §)

[Question ID = 134][Question Description = Q134_AFA_NAIRAUG4]

' Bi-annual Basis / cfdaiie HgR W

[Option ID = 533]
2. Quarterly Basis / THHET HER O

[Option ID = 534]
3. Bimonthly Basis / EfF AITG® IR 0

[Option ID = 535]
4. Monthly Basis / #TTO% 3TN O

[Option ID = 536]
Correct Answer :-
Bi-monthly Basis / a0 HiT8& HER 9T

[Option ID = 535]



135) TheDefence-PRS Centres should be checked by Sr. TlAs which include
remittance check atleast on a

CIFIBIRUT Fal & AR ST SHST gail 61 A a1ige, T
T T & U 9+ 9991 S oA B

[Question ID = 135][Question Description = Q135_AFA_NAIRAUG4]
- Bi-annual Basis / Zfaaids AR v
[Option ID = 537]
2. Quarterly Basis/ TOATE! HTUR 97
[Option ID = 538]
3. Bl-manthly Basis / Efd AIfaes AT @

[Option ID = 539]
4. Every Alternate Month Basis / T qgﬂ HIE o HET 91

[Option ID = 540]

Correct Answer :-

® Every Alternate Month Basis / G¥ q-F[T HIE o HEN 91

[Option ID = 540]

136) TheSiding Charges are collected as per the notification issued fromtime
to time and TIA-checks include:

IS5 Ao THIHHT G ST HERGEA & IR A [ A §
A U o B [ e A | )

[Question ID = 136][Question Description = Q136_AFA_NAIRAUG4]
The Shunting Charges are collected on actual performance as per

1. Engine-Hour Cost. /

ATEH Yo Sole-ue olaid & IR dRcide [eediad W T
TRz e &
[Option ID = 541]

If additional shunting done as per request of siding owner,

necessary dues to be collected /

Ife; WSS HAifolh & el 9 AR effear & SIrer &
AT HEEE Fehrr R a9 & S |
[Option ID = 542]
3. The Siding Agreement is current and available /
HISTET SRAFTHCAIT AT 30T § |
[Option ID = 543]
4. All of these / 501 & it

[Option ID = 544]

2.

Correct Answer :-

® Al of these /501 & it

[Option ID = 544]

137) The Detention Charges of Containers are calculated and levied:
Al & A e ol IO A FEQG T A6 b

[Question ID = 137][Question Description = Q137_AFA_NAIRAUG4]
After expiry of the free time and rate agreed at the time of agreement
modified yearly. /

IAaY & AT GeAd [ Fd GHT HIY X B G & ag

yfaad weifad Ghar smen
[Option ID = 545]
o, After expiry of free-timeand rate notified from time to time. /

THO-HAY T AT [&:0F §AT Ud g3 $7 §Ad & ag



[Option ID = 546]
Alfter expiry of free-time and rate notified as per MOU with CONCOR /

3. e Ha &1 gHICT & dg U7 HAER & 1Y TEATEAgT
& HaER AEgEd &

[Option ID = 547]
After expiry of free time and fixed rate notified. /

ferre worar &1 wanfed 3R i &3 sfofEe g & ae

[Option ID = 548]

4.

Correct Answer :-
After expiry of free-time and rate notified from time to time. /
THA-EAG U e FRes §AT Ud 6% &7 §AT & ang

[Option ID = 546]

138) Traffic Book is a compilation of Earning of a Zonal Railway

compmnsing
Sitha I U 8731 (old o A5 &1 Tehold & 10RT
AT Bl
[Question ID = 138][Question Description = Q138_AFA_NAIRAUG4]
1. Coaching / I
[Option ID = 549]
2. Goods /5T

[Option ID = 550]
Sundry and Other Coaching including Net Results of Apportionment /
fafaer 3R wwg i o smdes & gy oRoms anfde 8

[Option ID = 551]

4. All ofthese / 5318 § Tl

[Option ID = 552]

3.

Correct Answer :-

® Allofthese / 5091 & Tell

[Option ID = 552]

139) Clasing Balance of Traffic Accounts represents.

TS @it F FAE 9 ZEr & |
[Question ID = 139][Question Description = Q139_AFA_NAIRAUGA4]
1. Gross Earnings / &% $#T5

[Option ID = 553]
2. Apportioned Earnings / HTaled 3

[Option ID = 554]
3. Originating Earnings / Fel 1T

[Option ID = 555]
4 Unrealized Earnings. / 3T9Ted 3T
[Option ID = 556]
Correct Answer :-
®  Unrealized Earnings. / 3915 HRT

[Option ID = 556]

140) Method of Appertionment of Eamings is based on:
T & Hided i G e W amaRa B2



[Question ID = 140][Question Description = Q140_AFA_NAIRAUGA4]
1. Centralized Apportionment / Frald ®9 & e
[Option ID = 557]
2. Independently done by Zonal Railways /
&V Yo AT o €9 @ Ghar e
[Option ID = 558]
3. Carried out by Railway Board / tod 1S gawy faear Smar
[Option ID = 559]

4. None of these / 558 & &5 #6

[Option ID = 560]

Correct Answer :-
® Centralized Apportionment / Frald &9 & e

[Option ID = 557]

141) Train Engine Hours include i
& S o Hel A e & |
[Question ID = 141][Question Description = Q141_AFA_NAIRAUG4]
'- Entire run employed on train / &= W aifaa w=gor @@
[Option ID = 561]
2 Including time occupied in halts but excluding enroute-shunting /
| U oEUd A o ARG AT ¢, W AR anfee e §
[Option ID = 562]
3. Only A"/ el “a”
[Option ID = 563]
4. Both ‘A" &*B"/“a* Ud“B" Gl
[Option ID = 564]

Correct Answer :-
* Both ‘A" & “B"/“A” U “B" Gleil

[Option ID = 564]

142) Average lead of the Passenger Traffic will be armved by:
T TR & 3 dis Ty YR T S

[Question ID = 142][Question Description = Q142_AFA_NAIRAUG4]
_ Multiplying Passenger KMs with number of passengers /
T fhelieiiey @ i & §Er & AT &

[Option ID = 565]

Dividing Passenger KMs by number of passengers carried /
2. T FhelAET & AT HU A0 Fe AT S e 7

CEIERETC

[Option ID = 566]
3. Dividing Gross Earnings by number of passengers /

Hebel T T WHGT &l e § Tafag &ar
[Option ID = 567]

4. None of these | A8 & &5 6

[Option ID = 568]

1

Correct Answer :-
Dividing Passenger KVs by number of passengers carried /
* o fredeT @ aEn R A de A @ e @
[EEUECEECH

[Option ID = 566]



143) Average lead of the Goods Traffic is worked out by way of:
HIT TN &1 H16d o5 v YR T=biel Sdl o7

[Question ID = 143][Question Description = Q143_AFA_NAIRAUG4]
1. Dividing NTKM with Tonnes Carried /
USACIRhUH &I iU AT g I [l &t
[Option ID = 569]

Dividing G TKM with number of Trains /
SHCRRUH &7 &A1 T 9T ¥ aeiaa #31
[Option ID = 570]
3. Dividing NTKM with GTKM /

UACIRUH &1 Siicihes § fasfaa st
[Option ID = 571]

Multiplying NTKM with GTKM /

USACHRUH &1 SAICIhUH & 0N &ar

[Option ID = 572]

2.

4.

Correct Answer :-
o Dividing NTKM with Tonnes Carried /
UACKRUH &I BIC 30 €4 o [d8Tiaig &iar

[Option ID = 569]

144) Capital-at-Charge is:
JST-IC-HEY T §?
[Question ID = 144][Question Description = Q144_AFA_NAIRAUG4]
- Dividend Paid | Jew osier
[Option ID = 573]
Book value of Capital Assets/
TSI IRETHET & a6 AeT
[Option ID = 574]
3. Profits Earned | 31ford et
[Option ID = 575]
4. Gross Earnings of a year/ U T T TR W

2

[Option ID = 576]

Correct Answer :-
Book value of Capital Assets/

AT IRETET & a6 Ao

[Option ID = 574]

145) ‘Dividend in Railways means.
Yordr & oeer &y HY &
[Question ID = 145][Question Description = Q145_AFA_NAIRAUG4]
1. Loss to the Earnings in a year / Us @9 & 31T & @it
[Option ID = 577]
2. Profits earned during the yearlfﬂ%-ﬂ; ohua wfaa amer
[Option ID = 578]
. Amount paid aninually on Capital /
Ot 9% Wiy sgErr o AT i
[Option ID = 579]
4 None of these / 578 & &S =4l

[Option ID = 580]

3

Correct Answer :-



o Amount paid annually on Capital /

ISt 9 gfaEd SR & A i

[Option ID = 579]

146) Purchase of Plants & Equipments will indicate:
HAAT Ud 39l I @lie, siAa el |

[Question ID = 146][Question Description = Q146_AFA_NAIRAUGA4]
1. Increase in Working Capital / FT3ler Toft & agfd

[Option ID = 581]
2. Decrease in Working Capital / Feer 9oif 7 &l

[Option ID = 582]
3. Both'A'& B’/ A'Ta'8 ol
[Option ID = 583]

4. None of these / S8 & HIS a0l

[Option ID = 584]

Correct Answer :-

® Increase in Working Capital / wreier Toft & agfar

[Option ID = 581]

147) CashFlow Statement is based upon
el Tang faavoT T AR &

[Question ID = 147][Question Description = Q147_AFA_NAIRAUGA4]
1. Accrual Accounting / SiCHT oAb

[Option ID = 585]
2. Gash-Accounting | Adc-cT@dh=

[Option ID = 586]
3. Double Entry /2Tg{r ufafee

[Option ID = 587]

4. Book Keeping / TEwme- o
[Option ID = 588]

Correct Answer :-

® Cash-Accounting / Fg-crdiche

[Option ID = 586]

148) Which of them is a Traditional Method for Capital Budgeting
Decisions?

S & i o geh aee fAvka & fav arafe fafr g

[Question ID = 148][Question Description = Q148_AFA_NAIRAUG4]
1. Net Present Value / S[E @@ Aed

[Option ID = 589]

2. |nternal Rate of Retumn /9ISt &F 3w &1

[Option ID = 590]
3. Average Rate of Return/ ¥ fie=l g7

[Option ID = 591]
4. Profitability Index Method / ST8T9eaT GECICINCIE)

[Option ID = 592]

Correct Answer :-



®  Average Rate of Return/ #ad et ¢

[Option ID = 591]

149) Liguid Rates arealso knownas:
ofeas ot & 59 a5 § off =7 S &

[Question ID = 149][Question Description = Q149_AFA_NAIRAUG4]
1. Current Ratio / el =0T

[Option ID = 593]
2. Acid-Test Ratio / Ufis2%¢ Hawid

[Option ID = 594]
3. Cash-Ratio / Fehe-37<T91d

[Option ID = 595]

4. None of these / 559 & &5 =60
[Option ID = 596]

Correct Answer :-

®  Acid-Test Ratio / U523 Heard

[Option ID = 594]

150) A Higher Inventory Ratio indicates :
TEF FE SR e g |

[Question ID = 150][Question Description = Q150_AFA_NAIRAUG4]
1. Better Inventory Management/ 980 Sedel el

[Option ID = 597]
2. Quicker Tumover / TTT FRIET

[Option ID = 598]

3. Both'A'&'B'/‘A' Ud ‘&' TN
[Option ID = 599]

4. None afthese | Sa# T &S F8
[Option ID = 600]

Correct Answer :-

® Both'A & B'/‘A’ UF 'B' T

[Option ID = 599]

151) Gross Capital employed is equal to Total

gerer Tt gsit & & W &
[Question ID = 151][Question Description = Q151_AFA_NAIRAUG4]
1. Assets /giegafRy

[Option ID = 601]
2. Capital /91

[Option ID = 602]
3. Current Assets /=TTl 9w

[Option ID = 603]
4. Liabilties / ¢&ar

[Option ID = 604]

Correct Answer :-

®  Assets / giETR



[Option ID = 601]

152) Two elements of a Current Ratio are Current Assets and
T HAIT & & oed b IR TREdEr 3R) I

[Question ID = 152][Question Description = Q152_AFA_NAIRAUG4]
1. Liabilities / 22T

[Option ID = 605]
2. Current Liabilities / 7] a1

[Option ID = 606]
3. Total Liabilities / &l ¢dT

[Option ID = 607]
4. Quick Liabilities / FaT{d Gaa

[Option ID = 608]

Correct Answer :-
®  Current Liabilities / 9T &2l

[Option ID = 606]

153) Original Cost= Rs 1,26 000/-, Salvage Value = Rs 6,000/~
Useful Life= 6 years. Annual Depreciation under SLM
(Straight Line Method)=
Hel TETE = 1,26,000/- $99, HdIS Fed = 6,000/- F99,
SOETET Sfige = 6 99| THUATH (SEl @r B F
IR AT HodeRt =

[Question ID = 153][Question Description = Q153_AFA_NAIRAUG4]

" Rs 21,000/

[Option ID = 609]
2. Rs 20,0004

[Option ID = 610]
3 Rs15.000/-

[Option ID = 611]
4. Rs14.000/-

[Option ID = 612]
Correct Answer :-
® Rs20.000&

[Option ID = 610]

154) D[epreciationis an expense resulting

AR Uk o1 & S oo & |

[Question ID = 154][Question Description = Q154_AFA_NAIRAUG4]
Frem the consumption of Current Assels /

AT TRETET & I &

[Option ID = 613]
From the consumption of Fixed Assets /
Fad NGl % 39ET

1.

[Option ID = 614]
From the use of Various Services /

Taferet Tamil & 39T &1

3.



[Option ID = 615]

4. None of these [ 5191 & &S A6

[Option ID = 616]

Correct Answer :-

From the consumption of Fixed Assets /
Fe UEITagl & 3USeET &

[Option ID = 614]

155) Diminishing Value Methed means a methed by which .
PRI #ed Tafer s areadr O fafe 8 e aea |

[Question ID = 155][Question Description = Q155_AFA_NAIRAUG4]
1. The rate of depreciation falls year by year/

HeUeR I &L,a¥ &¥ auEed! &

[Option ID = 617]
The amount on which depreciation is calculated falls vear by year /

2. Torg Y 9X Hedels & o7 &1 Sl §, 96 99 o 99 Hent
EligN

[Option ID = 618] .
The Rate as well as the amount to which it is applied fall year by year/
X T o ufer o 5% W e e & 9w 9 X 9y wedr 9 i

[Option ID = 619]
4. MNone of these / 5a6 & &5 =4l

[Option ID = 620]

Correct Answer :-
The amount on which depreciation is calculated falls year by year /

o o UfRr o Aegere 1 aorer fr S €, 95 a¥ oy 9 gt
ST & |

[Option ID = 618]

156) Depreciation according to Straight Line Method 1s calculated on
Hrell Y fafe & e #Hogerd & avrEr X el STl B

[Question ID = 156][Question Description = Q156_AFA_NAIRAUG4]
1. Opening Balance / 9R{&& 99

[Option ID = 621]

2. Closing Balance /| §HIYH 99

[Option ID = 622]
3. Market Value / STSR #e 9

[Option ID = 623]
4. Original Cost | el T

[Option ID = 624]

Correct Answer :-

® Orginal Cost | #Fel #ETT

[Option ID = 624]

157) Rs 20,000/ paid as wages for erecting a machine should be debited to:

Al o & oI Foigll & FT H @A [T AT 20,000 TIF &
# sfae foar sem e

[Question ID = 157][Question Description = Q157_AFA_NAIRAUG4]



1. Repair Account/ A#FAT el

[Option ID = 625]
2. Capital Aecount / GiT @IT

[Option ID = 626]
3. Machine Account / Fi=T @roT

[Option ID = 627]

4. None of these / 5510 § &I 6l
[Option ID = 628]

Correct Answer :-

®  WMachine Account / H2IE EIAT

[Option ID = 627]

158) Goodwill Accountis a i

HeHEAT WAl Uk &l
[Question ID = 158][Question Description = Q158_AFA_NAIRAUGA4]
1. Neminal Account / STHHTT @TAT

[Option ID = 629]
2. parsonal Account | SATETETT GIAT

[Option ID = 630]
3. Real Account/ @redide @il

[Option ID = 631]
4. MNone of these / S8 & &IS =4l
[Option ID = 632]

Correct Answer :-
* Real Account/ @ Tas @Il

[Option ID = 631]

159) The process of transferring Debit and Credit items from ajournal to
their respective Accounts in the Ledger is terms as )

ot seier @ 2T 3R FfEe wsed & 394 gafad o) & @l
FEATATANT Slet 1 TiehaT &l HET ST & |

[Question ID = 159][Question Description = Q159_AFA_NAIRAUG4]
1. Ledger Posting / o7=i¢ OrfEcaT

[Option ID = 633]
2. Journalizing / STereTTstotaT

[Option ID = 634]

3. Balancing / dereer

[Option ID = 635]
4. Accounting / ST

[Option ID = 636]

Correct Answer :-

®  |edger Posting / 9/=1% GIfEEaT

[Option ID = 633]



160) The Debts written off as ‘Bad Debts”, if recovered subsequently
are

FAET HOT & §Y # o Av w1, Al d@g 7 a9 B
ST & A |
[Question ID = 160][Question Description = Q160_AFA_NAIRAUG4]
1. Credited to Bad Debts recovered Account /
W HOT aHe Wil A AT har S &
[Option ID = 637]
5. Credited to Debtors’ Account /
EHERN & @i & <A T oA &
[Option ID = 638]
3. Debited to Profit & Loss Account /
g Ud @i @ ¥ STae fohar o &
[Option ID = 639]

4. None of these /| Sa#H & &5 =6l

[Option ID = 640]

Correct Answer :-

o Credited to Bad Debis recavered Account /
WA T S Wi A ST A S E

[Option ID = 637]

161) Provision for Bad and Doubtful Debts is treated in
Balance Sheet as .

Heile v §Re9y WU & TOT uigdT & do 9
# HTAT ST & |

[Question ID = 161][Question Description = Q161_AFA_NAIRAUG4]
1. Added to Debtors / &=lgAT # SIS @0

[Option ID = 641]

2. Deducted fram Creditors | o=ie{T & &etar

[Option ID = 642]
3. Added to Creditors /| RUTEIIFT # SISl 71 @0

[Option ID = 643]

4.  Deducted from Debtors / Z-ERT & &eldl
[Option ID = 644]

Correct Answer :-

®  Deducted from Debtors / SagRT & ®eldl

[Option ID = 644]

162) Patents, Copynrights & Trademarks are what?
e, HIONSE I S5HR o & 2

[Question ID = 162][Question Description = Q162_AFA_NAIRAUG4]
1. Current Assets / =] 9R&Hf

[Option ID = 645]

2. Fixed Assets | =T SREYRT

[Option ID = 646]

3. Intangible Assets | 3 YR

[Option ID = 647]



4. Investments / TH3T
[Option ID = 648]

Correct Answer :-

® Intangible Assets /| HHA UiEdTT

[Option ID = 647]

163) Preparation of a Trial Balance is basically meant for:

ore de 1 ST g w7 @ T v g g

[Question ID = 163][Question Description = Q163_AFA_NAIRAUG4]
1. Locating Errors / F2at &7 YaT S=1

[Option ID = 649]
2. Locating Errors of Principles / Tgendl @1 il &1 ar sam=

[Option ID = 650]

3. The Trial Balance to agree / §a#HTa Segrdel dord

[Option ID = 651]

4. Mone of these | 578 T 15 =g
[Option ID = 652]

Correct Answer :-

* The Trial Balanceto agree / TEATD SagTael dorg

[Option ID = 651]

164) Assets are held in a business forthe purpose of

%ﬂw#uﬁﬁmﬁﬁ%ﬁﬁﬁmﬂuﬁmmﬁl

[Question ID = 164][Question Description = Q164_AFA_NAIRAUG4]
1. Resale /qATd®a

[Option ID = 653]
2. gonversion into Cash / SEer ¥ SUOOT

[Option ID = 654]
3. Earning Revenue / T=ied HTatd el

[Option ID = 655]

4. None of these /5% & &S Adr
[Option ID = 656]

Correct Answer :-

®  Earming Revenue / T=fea HTold &el

[Option ID = 655]

165) Financial position of a Business is ascetained on the basis of:
Tehelt egaarg 1 fad Rufd & gar Braafed & 3 w)
AT ST B

[Question ID = 165][Question Description = Q165_AFA_NAIRAUG4]
Records prepared under Book-keeping process /

Teome-fohdE 9l & T6d oaR e aw A

[Option ID = 657]
2. Trial Balance | TR dore



[Option ID = 658]
3. Accounting Reports | or@de fidTe

[Option ID = 659]

4. None of these/ 309 T &5 =00
[Option ID = 660]

Correct Answer :-

*  Accounting Reparts / oT@mR=T fidic

[Option ID = 659]

166) An Asset is purchased for Rs 60,000/~ on which depreciation is provided
annually according to the Straight Line Method. The useful life is 10 years
and the scrap value is Rs 10,000/ The Rate of Depreciation is

Ue Ol 60,000/~ 9 F WIET 75 5, 99 W TE o5 gguid &
IFEN At Hederd o A ) 39EET SfEw 10 av & 3R w5
Hea 10,000/~ T §| AraghT &7 &X &l

[Question ID = 166][Question Description = Q166_AFA_NAIRAUG4]
1. 18%

[Option ID = 661]
2 g%

[Option ID = 662]
3 q2%

[Option ID = 663]
4 10%

[Option ID = 664]

Correct Answer :-
® 10%

[Option ID = 664]

167) The Residual Value of an Asset is:
fedll aitadid & HafRse Aea & |

[Question ID = 167][Question Description = Q167_AFA_NAIRAUG4]
1. The Estimated Amount realized on the sale of an Asset [

faelr ufteafsr &1 fadht ox wieT apfaa af

[Option ID = 665]
o ThePrice paid on the purchase of the Asset /
e & @IE W OIgRS TS

[Option ID = 666]

3 Reduced Value of the Asset every year /
qiETe & 9id @9 &F giar Hed
[Option ID = 667]

4. Mone ofthese ! S8 T &5 #6r
[Option ID = 668]

Correct Answer :-

o Ihe Estimated Amount realized on the sale of an Asset /

Tt ufteafer &1 fadfr 9x wre apfaa af

[Option ID = 665]



168) A Statement of Financial Position would show prepayment/
advance as

Tt Fearfel &7 TaeRoT qd sperdrensfas & 58 g fgamen
|

[Question ID = 168][Question Description = Q168_AFA_NAIRAUG4]
1. Current Assets / e[ ST

[Option ID = 669]

2. Non-Current Assets / #T-a7e] 9itaqfT

[Option ID = 670]
3. Current Liabilities / TTe], &3

[Option ID = 671]
4. Deduction from the Capital { Geil ¥ @eldr
[Option ID = 672]

Correct Answer :-
* Current Assets / e[ ST

[Option ID = 669]

169) What is correct ?

fawafolida & & == 9 82
[Question ID = 169][Question Description = Q169_AFA_NAIRAUG4]
1. Capital = Assets + Liabilies / 9sit = IR + ZTAC
[Option ID = 673]
2. |iabilities = Capital — Assets / 2IaI0 = &l - HOfe
[Option ID = 674]
3. Capital = Net Assets / Gl = UgY IREYwar
[Option ID = 675]
4. None of these / 557 § &5 @ar
[Option ID = 676]
Correct Answer :-

®  Capital = Net Assets / Tall = Uger IREGfT

[Option ID = 675]

170) Foreach and every Debit there must be a corresponding Credit is the
Principle of )

9o 2T & U UF H9d Fise e GIeT I8 &7
Rrgzrme &1

[Question ID = 170][Question Description = Q170_AFA_NAIRAUG4]
1. Going Concern / FTe] HHcATT

[Option ID = 677]
2. Double Entry / EigiT 9fatee

[Option ID = 678]
3. Book Keeping / TEaTe-fohae

[Option ID = 679]
4. Real Accourt/ arEatds @rdr

[Option ID = 680]



Correct Answer :-

® Double Entry / 2ig4r gidfte

[Option ID = 678]

171) The following is a Statement of Revenues and Expenses forspecific
period of time:

fAFafoiea fafdee e & [ verg vg @39 &1 G &
[Question ID = 171][Question Description = Q171_AFA_NAIRAUGA4]
1. Trading Account / ZT5aT @

[Option ID = 681]
2. Trial Balance / ET8e #erd

[Option ID = 682]
3. Profit & Lass Account/ e 3¢ &ifer @mam

[Option ID = 683]

4. Balance Sheet /deg ofie
[Option ID = 684]

Correct Answer :-

*  Profit & Loss Account/ omeT 31T &1f=r @1

[Option ID = 683]

172) Financial Statements are part of
Tadrr TaawoT formet foemm &2

[Question ID = 172][Question Description = Q172_AFA_NAIRAUG4]
1. Accounting / eT@ERT

[Option ID = 685]
2. Book-Keeping / em-ferara
[Option ID = 686]

3. All ofthese /5e# & Halr

[Option ID = 687]

4. None of these / 55 9 &5 =g
[Option ID = 688]

Correct Answer :-

®  Accounting / eTdH

[Option ID = 685]

173) Accounting Standards: in India are issued by:
SR #H A@ihd Als [hat cai i R a8

[Question ID = 173][Question Description = Q173_AFA_NAIRAUG4]
1. Central Gevernment ! e TN

[Option ID = 689]
2. Finance Ministry / Taeq #amer
[Option ID = 690]

3. Institute of Chartered Accountants of India /

[Option ID = 691]



4. Reserve Bank of India | i Nerd d
[Option ID = 692]

Correct Answer :-
Institute of Chartered Accountants of India /

[Option ID = 691]

174) Depreciation provides funds for:

Hedwy foe=toiad # 3 fead fav o= 390 & § 2
[Question ID = 174][Question Description = Q174_AFA_NAIRAUG4]
1. Repairs / #FAT

[Option ID = 693]
2. Depreciation / Ardera

[Option ID = 694]
3.  Replacement /wforama=T

[Option ID = 695]
4 Renewals | Fdi&TaT

[Option ID = 696]

Correct Answer :-

*  Replacement /gfaram=T

[Option ID = 695]

175) Break-even Point means:
dF-5d Hise & Jood & |

[Question ID = 175][Question Description = Q175_AFA_NAIRAUG4]
1. Total Expenses are equal to Total Revenue /

Tel T el Jheled & aven b
[Option ID = 697]

Total Expenses are lesser than Total Revenue /

2. _
&l T Tl Tored I HA B

[Option ID = 698]
Total Expenses are Greater than Total Revenue /
el TUA Fel WA G HF §

[Option ID = 699]

4. Mone of these | ST T &5 6T
[Option ID = 700]

Correct Answer :-
o Iofal Expenses are equal to Total Revenue /
el TU el Jlofed o adlel ©

[Option ID = 697]





